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UGC NET PAPER 2 NOVEMBER 22, 2021 SHIFT 2 PUBLIC ADMINISTRATION QUESTION PAPER

Topic:- PubAdmin_A

B V.A. Graicunas theory on span of management/control was based on

(1) Flat organmisational structure (2) Mathematical calculation
(3) Empirical Studies (4) Rule of Thumb

Y. T. A A wseA /A fowar @ fagia s o
(1) AU USATeas O (2) TIOEE AT

(3)  FATWAA® MEEA (4) =EEIE 7AT9F

[Question ID = 4277][Question Description = Q01_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16571]
2. 2 [Option ID = 16572]
3. 3 [Option ID = 16573]
4. 4 [Option ID = 16574]

2)  Who stated, “Administration 1s now so vast an area that a philosophy of administration

comes to bring a Philosophy of life™?
(1) H.A. Simon (2) Marshal E. Dimock
(3) Piffner (4) L.D. White

TR T & T8 S ol 21 T 2 T v o o Sianen o T B e mem R

(1) = T R (2) Wl 1. foims
(3) TaFHR 4 ud. g =R

[Question ID = 4278][Question Description = Q02_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16575]
2. 2 [Option ID = 16576]
3. 3 [Option ID = 16577]
4. 4 [Option ID = 16578]

3)  Which of the following 1s viewed as an alternative to market and hierarchy in public policy

and management literature?

(1) Professionalism (2) Networks

(3) Collegiality (4) Procedural mode
e Aifd 3 geE Tifzeg | FAefeiiga O o 9 srar 31t s1fisen o foeed <5 =9 ° d@r war 27
(1) =T (2) e

(3)  dHiEwa @) et O

[Question ID = 4279][Question Description = Q03_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16579%]
2. 2 [Option ID = 16580]
3. 3 [Option ID = 16581]
4. 4 [Option ID = 16582]

4)  The book “The Frontiers of Public Administration” written by John M. Gaus was co-authored

by which of the following?
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(1) L.D. White and Luther Gulick (2) M.E. Dimock and P.A. Appleby
(3) Luther Gulick and FM Marx (4) L.D. White and M_E. Dimock

. W e gRI Rl ywae g TR ofrr ufssrs e’ & gg-<iws Frefafaa 9 9 =9 97

() e 2. =R S R e (2) . 3. o oft . T, twewh
(3) TR TIReTh SR UH. A, AT @) vUH. . =Ee R . 3. s

[Question ID = 4280][Question Description = Q04_PubAdmin_SHAAN_NOVZ21]
1. 1 [Option ID = 16583]
2. 2 [Option ID = 16584]
3. 3 [Option ID = 16585]
4. 4 [Option ID = 16586)

3 Who among the following. made distinction between obedience and acceptance of Authorty?

(1) Chester I Barnard (2) Herbert A Simon
(3) Max Weber (4) JD Mooney

Frfatea § @ e staeTer o a i Wi & e 99 fea?

(1) o . @ . T o

(3) Humaw @ <. @ g

[Question ID = 4281][Question Description = Q05_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16587]
2. 2 [Optien ID = 16588]
3. 3 [Option ID = 16589]
4. 4 [Option ID = 16590]

B) The public-choice school sets a concept of :
{1 Bureaucratic administration (2) Hierarchical administration
(3) Democratic administration (4) Oligrachic administration

% i feEmar sh—ot TEew @i w5 2 7

(1) T S (2) vEEE S
(3) ST S @) IR T

[Question ID = 4282][Question Description = Q06_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16591]
2. 2 [Optien ID = 16592]
3. 3 [Optien ID = 16593]
4. 4 [Option ID = 16594]

7) The aim of Napoleonic code introduced in 1804 during the regime of Napolean Bonaparte
was to:
(1) Abolish Bureaucracy (2) Strengthen Bureaucracy
(3) Reform Bureaucracy (4) Further Bureaucratic despotism

T 1804 1§ JUifera AT F IR BiA § ST A 715 AU ~Hig P Iy AI-

(1)  =T=Emsl =1 9o (2) el F aEga FE
(8)  FmmEl °§ gUw (4) TR aEETE B SeH

[Question ID = 4283][Question Description = Q07_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16595]
| 2. 2 [Option ID = 16596]
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| 3. 3 [Option ID = 16597]
4. 4 [Option ID = 16598]

8
] Which gne of the following 1s a characteristic feature of participative management?
(1) Hierarchical structures (2) Vertical communication
(3) Directionless activities (4) Cross-functional hnkages

Frafalga % @ = o aeafranet saem $i wrfitfe et 27
(1) IS ST (2) = gy
(8) Tefadm nfafafemt (4) TF-FEAF d9G

[Question ID = 4284][Question Description = Q08_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 165%99%]
2. 2 [Option ID = 16600]
3. 3 [Option ID = 16601]
4. 4 [Option ID = 16602)

%) Micheal Crozier's “The Bureaucratic Phenomenon” was a study of the bureaucracy of :
(1) England (2) Germany
(3)  Italy (4) France
ATEFS BISTR F1 G SgUBRED FAMET Hal H AHEE 1 T o7
O Fds @
(3 gl (4 W™

[Question ID = 4285][Question Description = Q09_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16603]
2. 2 [Option ID = 16604]
3. 3 [Option ID = 16605]
4. 4 [Option ID = 16606]

10) “Zone of Indifference” as a concept is attributed to

(1) Herbert Simon (2) Rensis Likert
(3)  Chester Barnard (4) M.P. Follett

“IETEFT 1 & WHTIl Tl TEY B -

(1) =TI (2) i o @
(38) e A @ ua b Fee 9

[Question ID = 4286][Question Description = Q10_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16607]
2. 2 [Optien ID = 16608]
3. 3 [Option ID = 16609]
4. 4 [Option ID = 16610]
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) Which one of the following thinkers did not accept duality or dichotomy between individuals
and group?
(1) Luther Gulick (2) Hennri Fayol
(3) Max Weber (4) Mary Parker Follett

Feranaa § 9 fFm fomm 3 =1iw oK o % o9 dgar s fGumem = w=ien T e

(1) R I (2 = e
(3)  HEE a4 (4) T IR FEe

[Question ID = 4287][Question Description = Q11_PubAdmin_SHAAN_NOV21]
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]
2 [Option ID = 16612]
3 [Option ID = 16613]
. 4 [Option ID = 16614]

oW

12) Who has referred to the Comparative Public Administrative Movement as “self conscious
movement”?

(1) Fred Riggs (2) John Montgomery
(3) Dwight Waldo (4) Martin Landau

A T TG TS 1 360 HATcH=a SATge Har 8 ¢
1) s fom (2) =W Ao
(3)  =AEE e (4) = S

[Question ID = 4288][Question Description = Q12_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16615]
2. 2 [Option ID = 16616]
3. 3 [Option ID = 16617]
4. 4 [Option ID = 16618]

13) Who has distinguished between ‘normally conceived plannming’ and ‘unplanned change

planmng’?
(1) Gerald E. Caiden (2) Donald C. Stone
(3) John Montgomery (4y Edward Weidner

"W Herfead FreEnT S st uiwds geEr J e 9 B gt

(1) TWwe 3, BEeA (2) siETS Wl WA
(8) = diemah (4) TS IESH

[Question ID = 4289][Question Description = Q13_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16619]
2. 2 [Option ID = 16620
3. 3 [Option ID = 16621]
4. 4 [Opticn ID = 16622]

14 . " " { . i
) In comparative studies of Administrative Systems and processes which one of the following

factors are vahid?

(1) Administrative structure is a dependent variable

(2) Power 1s dependent variable

(3) Administrative behaviour 1s an independent variable

(4 Dependent/Independent variables are depend on the nature of research problem

T a1 31T IEFEIeT % FerTor® AeTAl § (efertiad § | A~ Feh w27
(1) g a0 TEE =K 2
(@)  with e =1 2
(8)  WIEIT STV U THEE W 2
(4) /a1y geen i T w A ww )
[Question ID = 4290][Question Description = Q14_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16623]
2. 2 [Option ID = 16624]

3. 3 [Option ID = 16625]
4, 4 [Option ID = 16626]

13)  Which country’s administration has been called modernizing administration?
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(1) French Administrative System

(2) Brifish Administrative System
(3) American Administrative System
(4) Japanese Administrative System

ToRT 2 < TSI 1 SRR T a3
(1)  =EH g a1 (2) fafem vomehig ax
(3)  wHich vumehE a3 (4) ST SEEERA 7

[Question ID = 4291][Question Description = Q15_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16627]
2. 2 [Option ID = 16628]
3. 3 [Option ID = 16629]
4, 4 [Option ID = 16630]

16) The concept of Judicial Review was borrowed for Indian Constitution from :

(1) United Kingdom (2) Canada
(3) South Africa (4) United States of America

AR "ira ° =nkes gt B geerar o T 2

(1) 7ses fAen T ) FIE Y
(3)  <téor sl o (4) I s i g

[Question ID = 4292][Question Description = Q16_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16631]
2. 2 [Option ID = 16632]
3. 3 [Option ID = 16633]
4. 4 [Option ID = 16634]

1%) The Indian Council Act of 1909 1s also known as :
(1) Montague Chelmsford Reforms (2) Simon Commission
(3) Sadler Commission Report (4) Morley-Minto Reforms

ARA T Gitae STHE9 1909, = 39 718 4 i == e 2)

(1) WTH-THHE GUT (2) dEE FHEA
(8)  deer FHEH R (4) WE-T gur

[Question ID = 4293][Question Description = Q17_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16635]
2. 2 [Option ID = 16636]
3. 3 [Option ID = 16637]
4. 4 [Option ID = 16638]

18)  In which year, the office of the special officer for Linguistic Minorities was created under the

provision of Article 350-B of the constitution?

() 1955 @) 1956
(3 1957 @ 1958

g o o ofigm ¥ Meag 360-B % WEUM % Iteid WIER oeuEmEa % fae few st %
Fraterd F wurod B T an?

(1) 1955 (2) 1956
(3) 1957 (4) 1958
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[Question ID = 4294][Question Description = Q18_PubAdmin_SHAAN_NOV21] Your Personal Exams Guide
1. 1 [Option ID = 16639]
2. 2 [Option ID = 16640]
3. 3 [Option ID = 16641]
4. 4 [Option ID = 16642]

19 . ! . . . S B .
) Which Article of the Constitution of India guarantees protection from social injustice and all

forms of exploitation?

(1) Article 15 (2) Article 16
(3) Article 18 4) Article 46

T Gfeam = BrE s=se g amieh = oI Teft e wee o gean i e 4 i 2 e

1) IFesE 15 (?) FT=aT 16
(3) IE=ER 18 @) IT=e 46

[Question ID = 4295][Question Description = Q19_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16643]
2. 2 [Option ID = 16644]
3. 3 [Option ID = 16645]
4. 4 [Option ID = 16646]

20) In which vear was a separate Department of Disability Affairs created within Mimistry of

Social Justice and Empowerment?

(1} October 1998 (2) May 1998
(3) October 2011 (4) May 2012

TS =™ 3 ST Te™ % ofad 69 a9 § fGoarta OThd W U ofer faum wafim e
™Y

(1) TR 1998 (2) =E 1998

(3)  srrem 2011 @ w3 2012

[Question ID = 4296][Question Description = Q20_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16647]
2. 2 [Option ID = 16648]
3. 3 [Option ID = 16649]
4. 4 [Option ID = 16650]

21) \Which Article of the Indian Constitution deals with the National Commission for Backward

Classes?
(1) Article 321 (2) Article 330
(3) Article 338 A (4) Article 338 B

I afeam 6 fora stg=ag 4 T et i aman & yaeE 27

(1)  eg=ae 321 (2) IF=ag 330
(3) o193 3387 4) oT=k< 338 W@

[Question ID = 4297][Question Description = Q21_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16651]
2. 2 [Optien ID = 16652]
3. 3 [Optien ID = 16653]
4. 4 [Option ID = 16654]

22 . . . .
) In which year was the maintenance and welfare of Parents and Senior Citizens Act enacted

by the Parliament?
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(1) 2006 (2 2007

3 2009 (4) 2010
T TR aite ATt =7 SROT-1Eo] 7R e SIaHEm o698 g a9 siutratte fen mn?

() 2006 (2) 2007
(3) 2009 4 2010

[Question ID = 4298][Question Description = Q22_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16855]
2. 2 [Option ID = 16656]
3. 3 [Option ID = 16657]
4. 4 [Option ID = 16658]

~8) Which agency has the authority to consolidate the plans prepared by Panchayvats and
Municipalities in the district?

(1) State Planning Board {2) District Planning Committee

(3) District Planning Department (4) State Planning Department

Toren o gEmEdr 3 TR g g dan R T SieEE w0 guihd B @ Wi fee SR w6
Ty 2

(1) T T s @) e T wiyfa
(8)  Torem F=n fawm (@) TS TS A

[Question ID = 4299][Question Description = Q23_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16659]
2. 2 [Option ID = 16660]
3. 3 [Option ID = 16661]
4. 4 [Option ID = 16662]

24)  Which one of the following is NOT in the purview of the Governor of a State?

(1) Power to dismiss the Ministry

(2) Power to dissolve the Legislative Assembly

(3) Power to form the Council of Ministers

(4) Power to assent the bills passed by the Legislature

Freaferfiag 3 & =9 1 76 TS99 F SETOER § T8 27

(1) e =i wae i ufe

(2)  Torawm % fEaeT H uie

(3)  ufEgfe % wea i wke

(4) Trgrsa gm i TaEE F = fiE 1m0 ook
[Question ID = 4300][Question Description = Q24_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16663]
2. 2 [Option ID = 16664

]
3. 3 [Option ID = 16665]
4. 4 [Option ID = 16666]

25)  Who succeeds the office of the Governor, if 1t falls vacant suddenly?

(1) Chairman of the Legislative Council
(2) Speaker of the Legislative Assembly
(3) Commissioner to Governor

(4) Chief Justice of the High Court of the respective State

Fta TAUTE T IS ST 16 B S0 @1 S5 92 Tl STl FiF 2 ?
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(1)  Fgm afeg = gumfa (2) Tam AW = A=A

(3) T F AT (4) TElUT 79 5 THAERE & g A

[Question ID = 4301][Question Description = Q25_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16667]
2. 2 [Option ID = 16668]
3. 3 [Option ID = 16669]
4. 4 [Option ID = 16670]

26)  Which one of the following 1s the oldest and a traditional form of organising public
enterprises?
(1) Government Company (2) Public Corporation
(3) Department Undertaking (4) Holding Company

Ffariga 4 @ $H-91 TEc® ST % Tisa FR- B q6E AT 1 WO 9 7 ¢
(1) gl woHt (2) wrElsE Fm
(3)  Taum STHA (4) Fros weh

[Question ID = 4302][Question Description = Q26_PubAdmin_SHAAN_NOV21]

1, 1 [Option ID = 16671]

2. 2 [Option ID = 16672]

3. 3 [Option ID = 16673]
4. 4 [Option ID = 16674]

27) Which one of the following industrial policy was also named as the economic constitution of
the country?

(D The Industral Policy Resolution, 1956
(2) The Industrial Pohey Resolution, 1973
(3) The Industrial Policy Resolution, 1977
(4) The Industrial Policy Resolution, 1991

Freferfiaa 9 @ e it $ifa =i vra % onhils afem fi et e
(1)  sienfies #ifa gweq, 1956
(2)  sirenfies A gwew, 1973
(3)  sitzifies Hifa gweu, 1977
(4) ot fifa @wew, 1991
[Question ID = 4303][Question Description = Q27_PubAdmin_SHAAN_NOV21]
1, 1 [Option ID = 16675]
2. 2 [Option ID = 16676]

3. 3 [Option ID = 16677
4. 4 [Option ID = 16678]

28) Which one of the following committee recommended that the civil servants should not be
appointed as Chamrmen of the Governing Boards of the public enterprises?

(1) Krishna Menon Committee (2) Arjun Sengupta Committee
(3) P.L. Tandon Committee (4) Committee on Public Undertakings

frfafan 9 @ fre afifa & swgia $t 7 T S o TS ST 5 gaeH 59 W 9 T
e e =ntew ?
(1) 7o 5w (2) o739 G Wit
(8) . um. =AM (4) FESED ST W =
[Question ID = 4304][Question Description = Q28_PubAdmin_SHAAN_NOV21]
1. 1 [Opticn ID = 16679]

2. 2 [Option ID = 16680
| 3. 3 [Option ID = 16681]
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22 What 1s the recommendation of the 15%® Finance Commission regarding the percent tax

devolution to the states?

(1) 39 per cent (2) 40 percent
(3) 41 per cent (4) 42 percent

=41 1 Tlawa TR TR0 % §ed § 15 9 o T0m # F0 g 27

() 39 v (2) 40 vfaem
(3) 41 yiawE (4) 42 viaw™

[Question ID = 4305][Question Description = Q29_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16683]
2. 2 [Option ID = 16684]
3. 3 [Option ID = 16685]
4. 4 [Option ID = 16686]

30)  How many public sector undertaking were recognised as ‘Maharatnas' in India till January,

20207
(1) Five (2) Seven
(3) Nine (4) Ten

T 2020, 9% 9IE # TR QS 8 SUSH i WERS 1 AEd YeH A e ?

I

I == (2) @

@ A @ =

[Question ID = 4306][Question Description = Q30_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16687]
2. 2 [Option ID = 16688)
3. 3 [Option ID = 16689]
4. 4 [Option ID = 166%0]

31)  Which one of the following is not a main characteristic of a Government Company?

(1) Created by Executive Decision
(2) Governed by Memorandum and Articles
(3) Service Motive

(4) Managed by Independent Goverming Board
frfofaa & 8§ =0 et ot ol 6 v R 6 27
(1)  wrrTferet % from grn o 7S @ T R femt g frfe
(3)  Tar = 329 (4) wEda GETEH g5 gl Usied

[Question ID = 4307][Question Description = Q31_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16691]
2. 2 [Optien ID = 16692]
3. 3 [Optien ID = 16693]
4. 4 [Option ID = 16694]

2 2 2 I . ;
32) Who defined Public Policy as authoritative allocation of values for the whole society?
(1) David Easton (2) Thomas Dye
(3) Harold Lasswell (4) Yehezkel Dror
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[Question ID = 4308][Question Description = Q32_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16695]
2. 2 [Option ID = 16696]
3, 3 [Option ID = 166%7]
4. 4 [Option ID = 16698)

33 ; : :
) Who proposed the incremental approach to the study of Public Pohicy?
(1) Nicholos Henery (2) Dawvid Easton
(3) Lindblom Charles E (49) Gabmal Almond

graaiE Hifd 215999 & o His 3y = ueaE o e e

(1) e 39h ) =frs s
(3) forgeatm = § @ e e

[Question ID = 4309][Question Description = Q33_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16699]
2. 2 [Option ID = 16700]
3. 3 [Option ID = 16701]
4. 4 [Opticn ID = 16702]

34)  Dror's optimal model of public policy making is related to :

(1) Quantitative and not Qualitative parameters
(2) Rational and Extra Rational factors
(3) Satisfying model of normal human being

@ Changes in Society
T Hfifa Fmior #1 SR SifeHe Gisa hed geid 27
(1)  =Eeas dusied |, 9 B qoners tudied 9
(2)  wifw o sAfsw-aifes mrw
(8) UMW AFT % Gegihr died °
(4) wO= b SeEEl 9

[Question ID = 4310][Question Description = Q34_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16703]
2. 2 [Option ID = 16704]
3. 3 [Option ID = 16705]
4. 4 [Option ID = 16706]

33) In the discourse of governance. heterarchic governance refers to:
(1) Structuralistic State
(2) Expansion of market networks
(3) Management of self-organising networks
(4) Different governance arrangements for different economic setfings
WA % SIS 99 § 2RI e § e 2
(1)  OEAEE s

(2) SR A2 W fam
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[Question ID = 4311][Question Description = Q35_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16707]
2. 2 [Option ID = 16708]
3. 3 [Option ID = 16709]
4, 4 [Option ID = 16710]

36) The Neo-Liberal concept of governance prefers :
(1) More Regulation (2) Less Government
(3) Public Sector (4) Bureaucratic hierarchies
WA Y FASSRATS! U7 TR 3T B ¢
(L) = ffE (2) =H WA
(3) wEEE & (@) o * ug

[Question ID = 4312][Question Description = Q36_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16711]
2. 2 [Option ID = 16712]
3, 3 [Option ID = 16713]
4. 4 [Option ID = 16714]

37) " Which one of the following is an essential factor that helps 1n report writing?

g} Methodology (2) Sampling
(3) Data Analysis (4) Scaling techniques

=t 4 9 =wi-u1 Tone <= 0 ggmEar 6 aer AR BEE 87

o

(1)  SoTeiaA (wiEra) (2) Tl
(8) e fagemm (4) STHAT-aHATS

[Question ID = 4313][Question Description = Q37_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16715]
2. 2 [Option ID = 16716]
3. 3 [Option ID = 16717]
4, 4 [Option ID = 16718]

38) The purpose of scaling techniques in Research is to :

(1) Study human behaviour (2) Quantify human behaviour
(3) Identify behavioural variables (4) Qualitative behaviour

oY § FHHT TR ol 3279 B

(1) A EER T A T (2) HTFE THAER T TRHIE

(3)  HIENTH = H TZEH B (4) A TIEER W EE ST

[Question ID = 4314][Question Description = Q38_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16719]
2. 2 [Option ID = 16720]
3. 3 [Option ID = 16721]
4. 4 [Option ID = 16722)

39 Which one of the following is a qualitative research?

(1) Correlational research (2) Hypothesis testing
(3) Experimental method (4) Phenomenological method
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Frfarfiga 9 @ -3 TomcnE Wy 27

1
(3)

TEaEdl Y (2) TTEET THE
i &ty (4) FenEEE-gad &ty

[Question ID = 4315][Question Description = Q39_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16723]
2. 2 [Option ID = 16724]
3. 3 [Option ID = 16725]
4. 4 [Option ID = 16726]

40} The objective of Delphi techniques 1n research is to

ey
2
G)
@

Ascertains opinion to experts/people

Determines whether experts/people agree or disagree on a certain issue
Verify the reliability of opinion given by experts

Verify the validity of opinion given by experts

MY 9 SEF TS T 32T 2

(L
)
3
(4)

feriagt /=t i w= ghifvaa e

a3 1 6 g /e fedt o R W weee € swmena
fereiost gra <t ¢ 1 i a1 genE e
et gra 31 s T <Ry SgaT B gead R

[Question ID = 4316][Question Description = Q40_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16727]
2. 2 [Option ID = 16728]
3. 3 [Option ID = 16729]
4. 4 [Option ID = 16730]

41)

Which of the following statements explains about Public Administration?

(A)  TItis a Cooperative group effort in public setting

(B) It 1s concerned with all the three branches of the Government and their

interrelationships

(C) It is a detailed and systematic execution of public laws

(D) It is an enforcement agency of public organisation for profiting the private sector

Choose the correct answer from the options given below :

1)

@)
(3)
4)

(A). (B) and (D) only are correct
(B), (C) and (D) only are correct
(A). (B) and (C) only are correct

(A). (C) and (D) only are correct

fFafefiga & 9 Hi9-0 Y9 |6 T2EA i s B a7

&)

B)

(®)]

T AR FraereT § e aEw TE 2
T gepr it T IrEis 3 S Seal-aayl § geidd 2

Tz Ars-faftml w1 frega ot gorafedm Frie 2
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(D) == B0 8 F o Ren F e o 18 % TadaT sAie 2)
e feu e femeat d ¢ wEl ST = 9EA Hif

1) A (A), B) 3ik (D)

(2) = (B), (C) ¥ (D)

(3)  F=A (4), (B) 3 (C)

@) =4 (A). (C) 3% (D)

[Question ID = 4317][Question Description = Q41_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16731]
2. 2 [Option ID = 16732]
3, 3 [Option ID = 16733]
4, 4 [Option ID = 16734]

42)  According to Gerald Caiden, the role of Public Administration is

(A)
(B)
(8)
D)

Choose the correct answer from the options given below :

(1
2)
(3)
G

Preservation of Pohity
Institutionalization of socic-economic change
Promotion of spoils system

Protection of weaker-sections of the society

(A), (B) and (D) only
(A), (C) and (D) only
(B). (C) and (D) only

(A). {B) and (C) only

TS BE5eA % AR | T9me i g 3

(A) T = afase

B) aEfTH-F afEaa 1 TeHER
(C) TE-TER =EE H e

(D) FHE F FHSAR P F &0

Hi f2u o fommedt 0 o uEt 39w =EE it
() %= (A), (B) v (D)

2 w34 (4), (C) 3R (D)

® %= (B), () 3R (D)

@ a4 (4), B) 3 (C)

[Question ID = 4318][Question Description = Q42_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16735]
2. 2 [Option ID = 16736]
| 3. 3 [Option ID = 16737]
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| 4. 4 [Option ID = 16738]
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+3) Which of the following principles brings out the difference between public admimstration
and private administration?
(A)  Principle of Uniformity
(B)  Principle of Hierarchy
(C)  Principle of Responsibility
(D)  Principle of Legal Authority

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A). (B) and (D) only
(A). (C) and (D) only
(A), (B), (C) and (D) only

(B), (C) and (D) only

ftefas 4 o 9 faga o e it Bl vomem % ofar @t e war 27

(&)  TEETE H g

(B) TeEaE = b
(C) Iaifac =1 fuga
(D) = w w fg

fra fou v Ted § @ OE 3T F =99 i

(1) e (A). (B) #1k (D)

(2) & (A). (C) 3k (D)

(3 (A). (B). (C) 3 (D)

(4)  wa= (B). (C) 3 (D)

[Question ID = 4319][Question Description = Q43_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16739]
2. 2 [Option ID = 16740]
3. 3 [Option ID = 16741]
4. 4 [Option ID = 16742]

44)

(A)
(B)
©

(D)

Which of the following are functions of Organizational Culture?

To control organizational behaviour
To encourage stability
To promote diveristy

To promote cross oganizational cooperation

Choose the correct answer from the options given below :

(1
(2)

i

(A). (B). (C) only
(B), (C). (D) only

a1y ST k]
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v

9

VWS \BFF OWALLLY

(4), (D) only

frafoflas 4 @ %7 @ el gl % w27

(A) TREE SHFER ® FERE wET

(B) T&ma = wremfza =

(C) T =i wemfza =

(D) &=t WrEfHE TEAr i WiewiEa e
Hi= fae o foeeut W ¥ Adt I W 9= HifY
1) a9 (4), (B), ()

@  F= (B). (©). D)

(3) %= (C), (D)

4 ¥ (4), D)

[Question ID = 4320][Question Description = Q44_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16743]
2. 2 [Option ID = 16744]
3. 3 [Option ID = 16745]
4. 4 [Option ID = 16746]

43) Which of the following influenced the evolution of Development Administration?

(A)
(B)
©)
()

Choose the correct answer fromn the options given below :

(1)
2
3)
(4

The Great Depression
Scientific Management Movement
New Deal Philosophy

Post World-War II reconstruction

(&), (B). (C) only
(B). (C). (D) only
(A). (C), (D) only
(A), (B), (D) only

T vomes & e = Aetataa | @ feem varfag fen?

A
B
©
D)

Tergereamdi wETE]
AT ToaT e o

= i =l 39

TediT favar 32 % suua AHEm

A feu o fommeat O Ot SR = 9= Rl
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1)
(2)
(3)
4)

Ha (A). B), (O)
Haa (B), (C), (D)
3w (A). (O), (D)

Faa (A), (B). D)

[Question ID = 4321][Question Description = Q45_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16747]
2. 2 [Option ID = 16748]
3. 3 [Option ID = 16749]
4. 4 [Option ID = 16750]

46)

Which of the following components are present in Weber's bureaucratic model?

(A)
(B)
(©)

(D)

Hierarchical arrangement of offices
Davision of work
Written rules for carrying out the assigned tasks

Social status determining public employment

Choose the most appropriate answer from the options given below :

(1)
2)
3
(4)

(&), (B). (C) and (D)
(B) and (D) only
(4) and (C) only
(A). (B) and (C) only

Fofeiad T O 5 o 7ed o8 % el & Widee § ST 2 ¢

(&)
(B)
(©)

(D)

FETTA 1 TSR SaaEdl

A F T2

o T F By § O T

= fou U foeped § @ 999 ST ST W = AT

(1)
(2)
(3)

(4)

(A), (B). (C) ¥R (D)

Fae (B) 31 (D)

et (A) 37 (C)

Fad (A), (B) 31 (C)

[Question ID = 4322][Question Description = Q46_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16751]
2. 2 [Optien ID = 16752]
3. 3 [Optien ID = 16753]
4. 4 [Option ID = 16754]

47)

Which of the following pairs is/are correctly matched?

(A)

The theorv of Rationality : Maximising solutions

prepp
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(B)  The Science of Mudling Through : Non-incremental solutions
(C)  The theory of Comprehensive Rationality : Satisfying solution

(D)  Concept of Zone of Indifference : Optimising the results

Choose the most appropriate answer from the options given below :

(1) (A and (C) only
(2)  (B) and (D) only
(3)  (A) and (B)only
(4) (A and (D) only

Frafafeg 9 @ /1 Sigl = o T8 27

Q) 7 Tamd e tRferdt - Afaommter degere

(B) T WizH 3% WSfom ¢ — Trgshed Hegory

(© = fugdi e wrEfae Rfad - v dogea
(D) T T TH IITF FSHE — ATMERAT g e

T fou o orrewl # ¥ WO SUIRE STR R =T IR

(1) =Ed (A) IR (C)
(2) w9 (B) 3R (D)
(3)  Haw (A) 3 B)

@  Fad (A) IR (D)

[Question ID = 4323][Question Description = Q47_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16755]
2. 2 [Option ID = 16756]
3. 3 [Option ID = 16757]
4. 4 [Option ID = 16758]

48)  Which among the following are correct about the Civil Service of France?

(A) Not all employees of the State and Public institutions or Corporations are Civil
servants

(B) Most employment positions in the French Civil Service are open to citizens of the

European Union

(&) Some rare positions, e.g. University Professors and Researchers are open only to
French nationals

(D)  Corps are grouped in Five Categories

Choose the most appropriate answer from the options given below :

(1) (A and (B) only
(20 (B and (C)only
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(4 (&) and (D) only

FEHATF I T I e i e FA-T S A 2 7

(A) TST iR o weaT @ Frmt % v s i TaE TE B B

(B) Wil Triics @A % aifernim UeMTR e M /g % ARG % T g B 2

©  F5 T T, 3 Rt SR iR S, e s e % R g 2 §)
(D) <R A= R A gufaa e w2

= fou U forredl § ¥ WOH SUERE STR O = T
(1) Faa (4) 3 (B)
(2)  Faa (B) 3R (C)
(3) @ (C) 2 (D)
(@ = (A) IR D)

[Question ID = 4324][Question Description = Q48_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16759]
2. 2 [Option ID = 16760]
3. 3 [Option ID = 16761]
4. 4 [Option ID = 16762]

49)  According to Fred Riggs the ‘Ideographic’ approaches concentrate on :

(A) Unique case
(B) Case Study

(C) Generalization

Choose the most appropriate answer from the options given below :

(1) (A only

(2)  (B)only

(3) (A) and (B) only

(4  (B) and (C) only
%g fog % JgR ‘Tfsamnfes’ 3qvm sow e Higs #d §
(a) faftre amgen
B) =i e

(C) am=fEm

+r fou T forRem O O Wel SUg® ST T O IS
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1) = @A)
@) Fae (B)
(3)  =ad (A) I (B)

@)  =as (B) #it (C)

[Question ID = 4325][Question Description = Q49_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16763]
2. 2 [Option ID = 16764]
3. 3 [Option ID = 16765]
4. 4 [Option ID = 16766]

0)  Which of the following is correct with related to Indian Council Act of 18612

(A) It restored the legislative powers of Bombay and Madras Presidencies
(B)  The Governor General in Council had 8 (eight) ordinary members

(C) It transformed the Governor General in Council to function as a Cabinet based on

portfolio system

Choose the most appropriate answer from the options given below :

(L  (A). (B)only
(2)  (B), (C)only
(3)  (A). (C) only

@ (A). (B), (C) only
Ttetfigd | O =9 91 9 9Ed™ gReg AEET 1861 = 999 O el 2 7
A) 3o de afi Agrm S h wfeat e greifia e

(B) AT SATE T HSHT H S (8) W ger 9|

(C) TUH 7o e o1 Feid @ uewikel onafa FRE # i m wE w0 & fon suwta W=
T

Fr=t feu T et A & weE S SOt w1 =EA Hife

(1) =4 @A), B
@  wEa (B). (O
3 = (@A), (O
@ == (A). B), (O)

[Question ID = 4326][Question Description = Q50_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16767]
2. 2 [Option ID = 16768]
3. 3 [Option ID = 16769
4. 4 [Option ID = 16770]

1) The jurisdiction of the Central Admimistrative Tribunal is over which of the following

services?
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(A)  Central Civil Services
(B) Staff of the Supreme Court of India
(C) Civilian employees of Diffence Services
(D)  All India Service

Choose the correct answer from the options given below :

1) @A), B, (C)only
2) &) (B). (D)only
3 A, (). (D)only
4  (B.(C), (D)only

FET TITES AT W e eteiaa B garet w R

(A) = TnEiE dand
(B) WiTd = I=aqH <Irerd % hHER]
(C)  H=3 Tanstl = AR FHEr

(D) s W TEn

= fau Mo fomedi 9 ¥ HeY U I o 944 RIS

1)  F= (A), (B). ©)
(2) ¥4 (&), B), D)
®  Fa (4), (©). D)
@ = (B). (C), D)

[Question ID = 4327][Question Description = Q51_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16771]
2. 2 [Optien ID = 16772]
3. 3 [Optien ID = 16773]
4. 4 [Option ID = 16774]

52)  (Consider the following statements :

(A) The National Commission for Scheduled Caste has the same powers as a civil court

(B) The National Commission for Scheduled Caste has the same powers as a criminal
court

(C)  The National Commission for Scheduled Caste has the same powers as a civil court

and criminal court

(D) The National Commission for Scheduled Caste has no power to act as a eivil court

Choose the correct answer from the options given below :

(1) (A) only
(2)  (A). (B only
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3  (B).(C)only

(4  (C). (D)only

T=fetiad =yt w o= 6 .

A)
(B)
©
(D)

i
1)
@
(3)
@

¥ argiom Wit oM % E fafe F % wEE whe 2|
W SEERE W S R o SR W % wE w3
i sigim sifa s o fafe S oft BRfiee #12 % ae witwa )
T oTgtea St e & o ffee w8 % =9 9 6 5 A uke T o2

f&u U orpedl § ¥ weE ST W W T I
T4 (A)
Hae (A) 31k (B)
Fad (B) 3T (C)
Hae (C) 31T (D)

[Question ID = 4328][Question Description = Q52_PubAdmin_SHAAN_NOV21]

1
2
7
4. 4 [Option ID = 16778]

. 1 [Option ID = 16775]
. 2 [Option ID = 16776]

3 [Option ID = 16777]

53)

Which of the following activities are related to disaster preparedness?

(A)  Rehef
(B) Training and dills for emergency staff

(C)  Reconstruction

(D) Development of evacuation plans

Choose the correct answer from the options given below :

(1) A, B).©)only
20 (A, (©). D)only
(3)  (B). (C), D) only

@ (B, D)only

frfafias § @ <59 o Grmre onugr Sadl § gefg 20

(A)
(B)
(C)

(D)

=
RRIEE1N

TR T | A aet Feer A wesn B

= fow 7o oeredi O ° W STERE STR W 9 IR
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(1) = Q). B) (O
@  FE A), (O) 3R (D)
3 %= (B), (C) 3R (D)
@ = (B) D)

[Question ID = 4329][Question Description = Q53_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16779]
2. 2 [Option ID = 16780]
3. 3 [Option ID = 16781]
4. 4 [Option ID = 16782]

34)  Which one of the following is not the objective of the multi-unit company?

(A) Pooling of resources
(B)  Decentralisation

(C)  Umniformity in Policies

(D)  Better coordination among the constituent units

Choose the correct answer from the options given below :

1) (A ®B). (C) only

2  ®). (0. D)only

3) (A, (C) D) only

4) (A (B), D)only
Freafetaa 9 & Fi-w og 797 1 T FTT T 27
(A)  TETEAT 1 O
B) TEgE

v e

(C) ifoat 3 vpeyan
D) T2F THE T AER AFA

= fo U forredl § ¥ WEE SUGRE ST 1 A THINT

(L) a9 A), (B). (C)
2 = B), (C), D)
(3) =99 (A), (C). D)

@  Fa= (A), (B), O

[Question ID = 4330][Question Description = Q54_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16783]
2. 2 [Option ID = 16784]
3. 3 [Option ID = 16785]
4. 4 [Option ID = 16786]

55 ; i G 3.
) Which one of the following was not the objectives of the disinvestment?

(A) Revenue Collection
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esource Mobilisation

(C}  Direct Participation by Public

(D) Wide Coverage of Activities

Choose the correct answer from the options given below :

1) Q). B)only

2 (A (©)only

3) A.®,(C)only

4  @.B), (). D) only

Feftgd § ¥ PHA-u1 fatem @1 2w @ ot

(&)  TeRa FgE

(B)  TEmEA M

(C) a1 6 Iome qrierd

(D)  TifafaieEt =1 =4 el

A= T5u 7o kel o O g9g SO W S = i

(1) =t (A). (B)
(2)  wEA (A). (O)
B)  Fad (A). (B), (C)

4 A B®.C.D0O)
[Question ID = 4331][Question Description = Q55_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16787]
2. 2 [Option ID = 16788]

3. 3 [Option ID = 16789]
4, 4 [Option ID = 16790]

36)  Which of the following are the compulsory provisions of the 73" Constitution Amendment
Act, 19927
(A)  Prowision for reservation of 1/3 seats for women in Panchayatraj institutions

(B) Provision for reservation of 1/3 seats for seats for backward classes 1n Panchayatraj
institutions

(C) Mimimum age for contesting elections to Panchayats is 21 years

(D)  To perform some or all the 29 functional items list in 11® schedule of the constitution

Choose the correct answer from the options given below :

(1) (A and (C) only
(2)  (A), (B) and (D) only
(3) (&), (B) and (C) only

{4 {AY. (CH and (TH onlv
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Ferffied 8 9 #E-a1 g™ TEuE 73 d Seum S offaEem, 1992 9 27

(A)  TETEERS TR B AReaT % 10 THiaETs STRATT 1 g

B) TEEdTS G ° 99 9 $ Y OF 9 STRE i EaE
(C) "= o A AgH % e =an Fulfa s 21 ad geEt weeE

(D) EauH % TREd JgE ¥ gHEg 34 29 FE 9% U S ¥ TS BEl B B B TEaE

5 f5u Tu feedl § § TeE e SO 1 98 Fe

(1) Faa (A) I (C)

2 Fad (A). (B) 3R (D)

(3 Faa (A), (B) &R (0)

(4)  Fad (A). (C) (D)

[Question ID = 4332][Question Description = Q56_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16791]
2. 2 [Option ID = 16792]
3. 3 [Option ID = 16793]
4. 4 [Option ID = 16794]

57)
(A)
(B)
()
(D)

Identify the agencies which are exempted from Right to Information Act (RTI) :

Central Bureau of Investigation (CBI)
Prime Mimister Office (PMO)
Medical and Professional Institutions

Research and Analysis Wing (RAW)

Choose the correct answer from the options given below :

(1
2)
3
4

37 AR i ggeE B R geen ) st sffem O e s 2

(A) and (C) only
(A) and (D) only
(A) and (B) only

(A), (B) and (C) only

(&)  Fom o e (e e o)

B)  wum == wEtEE (f T )

(©) Farreadm IR saamiE Ty

D) o vs wiati e (1)

Hr T o Rt § ¥ Te SUSE S W T A

(1) =a= (A) AR (C)
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(2) Had (A) 3T (D) Your Personal Exams Guide
3) =9 (A) ¥R (B)

(4)  =ad (A), (B) 3T (C)

[Question ID = 4333][Question Description = Q57_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16795]
2. 2 [Option ID = 16796]
3. 3 [Option ID = 16797]
4. 4 [Option ID = 16798]

58) Which of the following are not a barmrer to delivery of public services

(A)  Absenteeism of public service delivery staff
(B) In effective supervision of higher officials

(C)  Absence of technical and professional knowledge and skills

Choose the correct answer from the options given below :
(1 (A) and (B) only

() (A) and (C) only

3  (©only

4 Aonly

freaferfige 9 = o1 a1 B %+ °9F 5 o=y T6 8 ¢

(A)  TTEET SUEEY T A BN B SRS T
(B) SwIRERIAT gRT YOEEA e
(C) Thl Ta =aEies FF UF g 0 397

= fow o fompewi O & WS SUEE STR 1 99 19T

(1) a9 (A) 2R (B)
(2)  Fad (A) IR (C)
(3 w9 (O)

(4 AT (A)

[Question ID = 4334][Question Description = Q58_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16799]
2. 2 [Option ID = 16800]
3. 3 [Option ID = 16801]
4. 4 [Opticn ID = 16802]

> Which of the following are the key components of New Education Policy, 20207

(A) Schooling from the age of 3 years
(B) Education Structure of 5+ 3+ 3+ 4

(C)  No multiple entry/exit in programmes in higher education

(D)  Gross enrolment ratio is higher education to achieve 50% by 2035
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Choose the correct answer from the options given below :
(1) (A, (B) and (C) only
(2)  (®B). (C) and (D) only
)  (A),(C)and (D) only
@ (A, (B) and (D) only

Freafafiaa 4 @ =0 & 72 e ifa, 2020 % ug@ @25 27

A 33 A T T
(B) 5+ 3+3+4 =i foren w=

(©)  I=aT e = wresnedl § o1 T 9 Y9 4 /AR e o1 aEaa e A5l |

(D) 2035 % =L e § 50% Fwel T 9T =1 <1549 UTH BT

T2t fou o fomewt 8 © T8 SOR % =9 FU
(1)  Fad (A). (B) 3R (C)
2  waa (B), (C) &t (D)
(3  FHad (A, (€) 3R (D)

(9 a9 (A), (B) 31 (D)

[Question ID = 4335][Question Description = Q59_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16803]
2. 2 [Option ID = 16804]
3. 3 [Option ID = 16805]
4. 4 [Option ID = 16806]

60) In democracies, public policies are a result of compromises arrived at among different
groups? Which of the following are involved?

(A)  Political Actors

(B) Pressure groups

(C) Non-State actors

M  Admimstrators

Choose the correct answer from the options given below :

(1) @A), (B) and (C) only
2  (B). (C) and (D) only
(3)  (A), (C) and (D) only
(49 (A), (B), (C) and (D) only

Firaat e A R T gw ae W uge W ukone 2 3| o FeafaRen § @ e
i 2 27

Fan np [
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L)

(B)
Q)

D)

LR b DAY B 1Al

TS TR
TR—T159 Hal

HRITHE

i fou e ferkedl A @ we@ SwTE ST A = il

(1)
(2)
3

(4)

Fa (A), (B) 31 (C)
Fa (B), (C) 3R (D)
Had (A), (C) 4R’ (D)

(A). (B). (C) ¥R (D)

[Question ID = 4336][Question Description = Q60_PubAdmin_SHAAN_NOV21]

P bl D —

61)

. 1 [Option ID = 16807]
. 2 [Option ID = 16808]
3 [Option ID = 16809]
4 [Option 1D = 16810]

Which one of the following is the core concerns of Harold Lasswell in the policy analysis?
(A) Social Process Model

(B)  Professional Identity
(C) Contextual Orientation

(D)  Infer disciplinary approach

Choose the correct answer from the options given below :

(1)  @). B) and (C) only
2) (A, (B). (C) and (D) only
(3)  (B), (C) and (D) only
(49 (A). (B)and (D) only

Fofefas § 9 3 i Sy ¥ 20 ﬁlaam%ﬁimtﬂﬂﬂ@ﬁﬁ%?

(&)
(B)
(8

(D)

TSR isRaT Jim™
AT S 59
Hefim sfafa=ma
s - T giewm

= fou 7o et °§ 9 W@ I 9 99 S

(1)
(2)

(3)

Haat (A), (B) 31 (C)
A). (B). (C) 3R (D)
Fad (B). (C) 31k (D)
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(4)  Had (A), (B) R (D)

[Question ID = 4337][Question Description = Q61_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16811]
2. 2 [Option ID = 16812]
3. 3 [Optien ID = 16813]
4. 4 [Option ID = 16814]

BE) Public Policy :

(A)  1s the consciously acknowledged rules of conduct that sumide public authorities in a
political system

(B)  1s resulf oriented action

(C)  1s not a legal sanction/authority

(D)  1srelated to decisional pattern of pulic administrator

Choose the most appropriate answer from the options given below :

(1)  (A)and (B) only

(2)  (C) and (D) only

(3)  (A)and (C) only

(4) (B) and (D) only

o ifq

(A) TP Hlaenia Fa SR e} S A e i TsHifos Saaed 3 B B o form, Jm g9
FdT 2

(B) = giomHFgE w2

(© =z ffa o= /i 7= 2

D) T8 =% JImEE ® HiErers ugli o et 2

9 fou T eedt § © ey U ST o =Ed Hif

(1) F= (A) IR (B)
@ %= (C) 3R (D)
()  wF (A) 3R (O)
@ ¥ (B) 9k (D)

[Question ID = 4338][Question Description = Q62_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16815]
2. 2 [Option ID = 16816]
3. 3 [Option ID = 16817]
4. 4 [Option ID = 16818]

&3] Which of the following are probability sampling?

(A)  Stratified Random
(B) Snowfall sampling

(C) Multistage sampling

(D)  Cluster sampling
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Choose the correct answer from the options given below :

(1)
2
(3
(4)

freforiga 8 @ = TR Tg-=eF 27

(A). (B) and (C) only
(B). (C) and (D) only
(&), (C) and (D) only
(A). (B) and (D) only

(A) TRA AGeIE

(B)  wHSTE THAI-TA

(C)  wg=o =

D) T =

= faw v ferpeat 4 9wt oo w =1 Fifs

() Fad (4), B), (©)

(2 =4 B), (C). D)

(3 a9 (A), (C), D)

(49  *ad (A). (B), D)

[Question ID = 4339][Question Description = Q63_PubAdmin_SHAAN_NOV21]

1. 1 [Option ID = 16819]
2. 2 [Option ID = 16820]
3, 3 [Option ID = 16821]
4. 4 [Option ID = 16822]

64)
&)
B
©)

Choose the correct answer from the options given below :

1
@)
(3)
&)

In Ex-Post Facto Research the position of the variable is :

Independent and happens before research
Begins with single dependent and independent variables

The researcher studies the possible relations in a regressed form

(A) and (C) only
(A), (B) and (C) only

(B) and (C) only

(A) and (B) only

e Ty o = ki ot

(A) T=Ed ol 2 offt e % uRa B 2

Fia = mrn:::rn—ﬁTﬂ—_rj':r:r:tﬂ-}rm-;ﬁT%:Pt%l

prepp

Your Personal Exams Guide



www.prepp.in

=ty

LA EAAETE RN % TERTCE TEAD A AR TERLEy Lrg

(C)  IuFdl G9a Gl =1 Sraamil ©9 1§ 315999 T 3

fi= fau v orepeal # ¥ w8 I = w9 IS
(1)  F= (A), (O

2  Faa (A (B), (C)

@ =9 (B). (O)

@ = (A, B)

[Question ID = 4340][Question Description = Q64_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16823]
2. 2 [Option ID = 16824]
3. 3 [Option ID = 16825]
4. 4 [Option ID = 16826]

65)

Which of the following statements 1s/are correct?
(A) Objectives should be specific

(B) Objectives can be written in a statement or question form

(& Another word for problem is variable

(D)  Objectives are to be stated in Chapter I of the thesis

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (B) only
(&), (B) and (C) only
(A) and (D) only

(A), (C) and (D) only

Ferfafad 8 #9525 2/37

(A) v w fate g =i

(B) S=FAl W FF ST ITTAETF STFR ° o T B
(C) A% fougmuas=RE

(D)  FoYF TNY U T UAN LA H Fe TH B

4= fou v Fepedt ¥ § 9l 3 w1 =wEd S

(1)  =F&=a @A), B)

(2) & (A), B). (C)

(3  Faw (A). (D)

@) Fad Q). (0), (D)

prepp
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| [Question ID = 4341][Question Description = Q65_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16827]
2. 2 [Option ID = 16828]
3. 3 [Option ID = 16829]
4, 4 [Option ID = 16830]

66)

Match List I with List II
Tast I Last IT
Concept Author
(A) Free and responsible society (' ' Ehnor Ostrom
(B) Governing Commons (II) Mary Parker Follett
(C) Integration and law of the situation (III) Karl Weick
(D) Organization as sense making activity (IV) Jurgen Habermas
Choose the correct answer from the options given below :
1)y  (A-AV), (B)-(ID). (C)-(D), (D)-AIL)
@2y  A)-AD, (B)-IV), (C)-(ID), (D)-(I)
(3) (A)-IV). (B)-(D), (C)-dD), (D)-11I)
@  A-dD, (B)-dID. (O)-O, (D)-AV)
=i 1% me e 11 1 faem i
Tll-1 Telt- 11
T EF
(A) T® I IwgEl mEE (D vediAr simen

(B) TR F WA

(C) vwhimw o fEf 1w
(D) iy Fmm ity % T H e

4 fer Epel § O 98t 39 = 999 BT

(1) (A)-{IV). (B)-I). (C)-(D. (D)-d1I)
2) (A)-(ID. (B)-(IV). (C)-(I1D). (D)-(I)
(3) (A)-(IV). (B)-(I), (C)-(ID). (D)-(I1II)
(4) (A)-(II), (B)-III), (C)-(0). (D)-(IV)
[Question ID = 4342][Question Description = Q66_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16831]
2. 2 [Option ID = 16832]

3. 3 [Option ID = 16833]
4. 4 [Option ID = 16834]

67)  Match List I with List IT

(A)
(B)
(€)
D)

List I

Culture Centric Framework
Structure Centric Framework
Inside of organisation

Inside of man/person

3 88°

Last I1

Classical Approach

Human Relations Approach
Behavioural Approach

Ecological Approach

prepp
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Codes:

1)  &-O. B)-ID, (C)-(11D), (D)-AV)
@  @-aV), (B)-M, (C)-aD, (D)-01D)
(3)  (A)-ID, (B)-AV), (O)-AD, D)-D)
4  (A)-0D, (B)-D, (C)-@), (D)-IV)

gl I % @y g 11 1 firem Fifsg

gfi-1 -1
(&) EFG-FEH e @O =
(B) =w=EAI-"high ren (I) == F§Y IIIH
(C) Ha =1 HAal® W (1) =Ieerad S9mH
(D) u%9/=al o1 afs 9 (IV) wifeiertaess som
+fr= i foreeat © © T SR =1 = Hife

1) A-O. B)-d3D), (O)-1I). (D)-AV)
@  A-aV). B)-0), (O)-dAD, (D)-I1DH
(3)  A)-dD, B)-av). (O-1D. (D)-I
4 @&)-ab. (B)-a). (O)-(D. (D)-AV)

[Question ID = 4343][Question Description = Q67_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16835]
2. 2 [Option ID = 16836]
3. 3 [Option ID = 16837]
4. 4 [Option ID = 16838]

®8)  Match List I with List IT
List I Last IT
(A) Participation of workers in () Fundamental Duty
management
(B) Respect the ideals and institutions (I) Directive Principals of State Policy
(C) Prohibition (III) Fundamental rights
(D) Emergency (IV) Constitutional Remedy

Choose the correct answer from the options given below :

1)  (A-D. B-AV). (O-1D. (D)-AI)
@  A-AD. B)-1), (C)-AV), (D)-IID)
3  (A-AID. B)-@). (O)-AD, (D)-IV)
@  (A-OV), (B)-ID, (C)-O), (D)-IT)

Tt 1% oy o=h I & T Fifm

i1 Fefi-IL
(A) TR H WA 6 ariEd (D) =@ Fd=a
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(B) 3EWIi ¥R TEHT 1 THA

(C) fimu

(D) AT

1= f2u ferreat 4 o 95 391 =1 = i
(D (A)-{D), (B)-(IV), (C)-AD. (D)-AID)
(2) (A)-dDn), (B)-(D), (C)-(IV), (D)-(III)
3 (A)-{IID. (B)-1). (C)-ID). (D)-AV)
(4) (A)-(IV). (B)-(I1D), (C)-(D, (D)-(II)

prepp

e 2 Your Personal Exams Guide
(D) Tt % Fews fagm

(IID) genfererl = feem
(IV) Taus IUaR

[Question ID = 4344][Question Description = Q68_PubAdmin_SHAAN_NOV21]

o 2

69)

(1) (A)-(11D). (B)-AV). (O)-(D), (D)-AD
(2) (A)-(ID), (B)-D). (C)-(IL). (D)-AV)
(3) (A)-110), (B)-dD. (C)-(D. (D)-OV)
4)  (A)-Jm, (B)-AV), (C)-aDn, M)-(D
F=t I arr g 11 w1 faem Fifse
-1
CAuE o
(A) Tefrea sfem
(B) &3
(C) E-7id
(D) wE=t (DBTL)
4 feu fempoat 9 o =@t Sor 1 ==A it
1)  A-IID, B)-AV), (O)-@), (D)-II)
@  A-IID. B)-@). (C-dD, (D)-IV)
(3) (A)-(I1I). (B)-(D. (C)-@). (D)-(IV)
(4) (A)-(IID. (B)-AV), (C)-I1), (D)-(T)

Match

A)
(B)
©)

D)

. 1 [Option ID = 16839]
2 [Option ID = 16840]
3 [Option ID = 16841]
. 4 [Option ID = 16842]

Last I with Last IT
List I
Programme
Digital India
AKSHAYA
e-kranti

PAHAL (DBTL)

List IT
Vision/Objectives
() Electronic Delivery of services
(II) Elminate bogus LPG connections

(III) Empowered society and knowledge
economy

(IV) Digital Literacy

Choose the correct answer from the options given below :

111
gl /e
(D) el |, 1. A, FeeE e

(D) | T999 &1 79 i s -—=aesn

(IV) fTshres memm

[Question ID = 4345][Question Description = Q69_PubAdmin_SHAAN_NOV21]
| 1. 1 [Option ID = 16843]
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| 2. 2 [Option ID = 16844]
3. 3 [Option ID = 16845]
4. 4 [Option ID = 16846]

70)

Match List T with List IT

(A4)

®)

(®)

(D)

List T
Institution
National Institute for the

empowerment of persons with
multiple disabilities

National Institute of Rehabilitation
Training and Research

National Institute of Mentally
Handicapped

National Institue of  Visually
Handicapped

List IT
Place
(.’ Dehradun

(IT) Secunderabad

Cuttack

E

Chennai

3

Choose the correct answer from the options given below :

(1)
)
3
@

(A)-aV). (B)-aID, (O)-(1D). (D)-(D)
(A)-aIV), (B)-(D), (C)-(T), O)-II)
(A)-0V). (B)-(ID, (C)-(I). (D)-(D
(A)-AV). (B)-dID, (O)-@). (D)-AD

T 1% T geft I =1 T it
gt
TEYTH

ugE wg-famwerar figa =i wmhiwor (D)
HEAH

(&)

B)
(C)
(D)

TEE TS - Taher S
g e -faswan e

i fou fepei § ° Ugl Fw 1 = Hife

(1)
(2)
(3)
(4)

71)

(A)-(IV). (B)-(ILL), (C)-(ID). (D)-(I)
(A)-IV). (B)-(D). (O)-(1I). (D)-(11II)
(A)-IV). (B)-ID). (C)-{III). (D)D)
(A)-(IV). (B)-(ILL}. (C)-(D). (D)-(IL)
[Question ID = 4346][Question Description = Q70_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16847]
2. 2 [Option ID = 16848]

3. 3 [Option ID = 16849
4, 4 [Option ID = 16850]

Match List I with List IT

(&)
(B)
(©)
(D)

List T
Disasters
Earthquake
Droughts
01l Spill
Pest attack

SR

D) TR,
(III) =e=

List IT

Related to
(D Clhmate
(I  Accidents
(ITIT) Biological
(IV) Geological

prepp
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Codes:

(1)
2
(3)
@

(A)-AV). (B)-(D). (C)-AD, (D)-IID)
(A)-(IV). (B)-(ID. (C)-1D). (D)-(D)
(A)-(IV). (B)-(II). (C)-(D), (D)-(I)
(A)-AV). (B)-(I). (C)-a1D), (D)-(ID)

o=t I = @ g=if 11 <61 e <hifsg

(&)
(B)
(©)
(D)

gHi-1

392

ks

q@i
a1 1 fam
Attt =7 gue

et fou famreat d @ w8 3w w1 = fifsw

1)
(2)
(3
@D

(A)-AV). B)-O. (O)-1D. D)-11D
(A)-(IV). (B)-d). (C)-(ILD. (D)-(D)
(A)-OV), (B)-(ID). (O)-AD, (D)~
(A)-OV). (B)-D), (O)-1IL). D)-1D

o

(I ghe
(IIT) SAferw

V) i

[Question ID = 4347][Question Description = Q71_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16851]
2. 2 [Option ID = 16852]
3. 3 [Option ID = 16853]
4, 4 [Option ID = 16854]

72)

Match Last I with List IT

ListT
Types of Grants

(A) Vote on Accounts

(B) Supplementary grants

©)

Excess grants

(D)

Demand for grants

(1)

(Iv)

List IT
Purpose

Approval for expenditure to be spent
over and above what has already been

approved 1n the Budget

Approval for expenditure already
spent over and above the budgetary
It

Proposal for expenditure
Ministry/Departments as estimate

Approval for grants 1n advance
pending the approval of the Budget

by

Choose the correct answer from the options given below :

1) (A-D. B)-1D. (O)-1D). O)-IV)
2  (A)-AD, B)-dID), (C)-IV), (D)-(N)
3  (A-AID. B)-IV), (O-O), D)-dD
@  (A-aV). B-O. (G-dD, (D)-dIDh
=t I % @ g 11 1 Ty ity
g1
3EH % THR
(A ST

- 11
EoAE |

M =7 O TImifed 791 o aTie =99 =94 =l

prepp
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(B)

AITE S

(C) fdies HAIEH

D) IIgEM A

Hi fau freal B T TE ST 1 999 0T

(D
@
3
@

(A)-(I). B)-ID, (C)-D), (D)-(IV)
(A)-(D). B)-(IID, (CO)-(IV). (D)-@)
(A)-d1D. (B)-IV), (O)-M. D)-ID
(A)-@V), (B)-(D, (C)-1D), (D)-IAID

b
-

AR
@) s d@im @ ol o oo T af
A

Iy 3F9F & w9 | Ao /faam g s @@
IS

AV) W= 7 IEAE a9 ST 2T W A

[Question ID = 4348][Question Description = Q72_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16855]
2. 2 [Option ID = 16856]
3. 3 [Option ID = 16857]
4. 4 [Option ID = 16858)

73)

Match List I with List II

ListI

Constitutional Provisions

(A) 2431

(B) 243C
(& 243T

@) 243 A

ListII
Purpose

(' Reservation for schedule castes and
Tribes in urban bodies

(I) Gram Sabha
(IID State Finance Commission

(IV) Composition of Panchayats

Choose the correct answer from the options given below :

ey
(2)
3
@

(A)-(0), (B)-@V), (O)-D), D)-(ID
(A)-(ID), (B)-AV), (C)-(D), (D)D)
(A)-A1D), (B)-aD). (O)-(D. D)-AV)
(A)-0V). (B)-(D. (O)-AD, (D)-IID)

ot I % @ g=ht 1T o1 foerm Hifsg

(A)

(B)
(©)
)

T=l-1

AT TaYH

2431

243 C

243 T

243 A

Hr= ey fepedl 8 9 @8t s w1 = il

(1)
(2)
(3)

(AHIIL), (B)-(IV). (C)-(D. (D)D)
(A)-AD). (B)-(AV). (C)-(1ID. (D)-(D)
(A)-d1L). B)-ID). (C)-(I). (D)-(IV)

=11
SR
@O =l Fwet & sy wfa i 57 el %
STRET
) Am w9

AID) o= fem sEm

(IV) =T F TS

prepp
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prepp

(@) (A)-AV). (B)D). (C)-AD), (D)-dIT) Your Personal Exams Guide

[Question ID = 4349][Question Description = Q73_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16859]
2. 2 [Option ID = 16860]
3. 3 [Optien ID = 16861]
4. 4 [Option ID = 16862]

74)  Match List T with List II

List I TLast IT
Types of Resarch Main Focus

(A) Discriptive Research (I) Discovering underlying motives of
human behaviour

(B) Applied Research (I) Daisecription of the state of affairs as it
exists at present

(C) Qualitative Research (IIT) Finds a solution for an 1mmediate
problem facing a soclety

(D) Fundamental Research (IV) Concerned with generalizations and
formulation of a theory

Choose the correct answer from the options given below :

1 A-@O. B-dn, (O)-d1D), (D)-IV)
(2)  @-avV). (B)-dID. (C)-AD). (D)-D)
3  (A-IAD. B)-1D. (G-, M)-IV)
@  @-a. ®-O. ©O-av), (D)-dID)

=t 1% @ g 11 =t frere i)
-1 G-I
AL F TR TET T
(A) TOIEHE ATEUH @) WFEE SEER & S A h
T
(B) 3FTIH IHEAH () T3 * 9We o5& 75 T gaam 4 d9hg 2,
=i =T
(C) “EHTE ATHTH (A1) qEFelT F9e B 9EET W §E UF WA
o Toru gor Fepren
(D) Fifew saaam (V) us fagra % gme=fmo sk gafara
mYy gafd
4 v faredl § ¥ o9 SO 1 =99 S

1)  A-O), ®-dD), (O)-I), (D)-IV)
2 (A-av). B-dD, (O)-an. O)-D
3  @A-AD. B)-AD. (C)-(D. (D)-IV)
4  (A-dD, B-@, (O-0V), (D)-dI)

[Question ID = 4350][Question Description = Q74_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16863]
2. 2 [Option ID = 16864
3. 3 [Option ID = 16865]
4. 4 [Option ID = 16866]

73)  Match List T with List II

ListI List I
Sealing Techniques Features or Measures
(A) Rating scales O To measure an individual’s

predisposition towards another
person, object or a phenomenon

(B) Attitudinal scales (Il To  identafy  variables  without
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(1 (A)-(D). B)-ID). (C)-D), (D)-(IV)
2 (A)-(D), (B)-(IID). (C)-(ID), (D)-IV)
(3 (A)-ID. (B)-D. (C)-dD), (D)-IV)
€] (A)-AD. B)-D). (C)-D), (D)-(IV)
=i 1% wr T 1L %7 fiem st
-1
(TR )
() Fetoor oo
(B) wfighes woh
(C) iva A
(D) IgEE AT
T v fawed § © T8l SOt 1 99 HIe
(1) A)-0. @-1D). (O)-dID), (D)-AV)
2) (A)-@), (B)-A1II), (O)-(I1I), (D)-AV)
3) (A)-dID, (B)-D). (CO)-1D). (D)-AV)
(4) (A)-ID. (B)-D. (O-IIL}, (D)-AV)

(C) Nominal scales

(D) Ordinal scales

prepp

quantitative value of label them Your Personal Exams Guide

(ITII) To measure a person, object or
phenomenon along a continuum or in
a category

(IV) To measure non-numeric, qualitative
concepts like satisfaction, happiness
efc.

Choose the correct answer from the options given below :

i
(T==T =1 9m7)
@O Tl R =afe, 9%g T @ew % ia PR
= e A
@) AfwereTs gea » o =i f TEeR #wW
(IID) Tt Widerd % Fer =1 FRl il 0 =i,
g AT AT A

V) dqie, wowar A9 W-TeAeAs, e
STAUTOTST =l T

[Question ID = 4351][Question Description = Q75_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16867]
2. 2 [Option ID = 16868]
3. 3 [Optien ID = 16869]
4. 4 [Option ID = 16870]

76)

Identify the sequence of the basis of Departimentalization as stated by Luther Gulick

(A)
(B)
(©)
(D)

Purpose
Process

Person

Place

Choose the correct answer from the options given below :

)
2
3
@

(D). (A), (C) and (B)
(C), (&), (B) and (D)
(A). (B), (C) and (D)
(B). (C), (&) and (D)

TR TEF g1 FiYa TR % SR H F0eg H
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()
(B)
(©)

(D)

#4 fu Tu eat 0 O 98 ST W 99 Sl

(1)
(2)
(3)
©)

[Question ID = 4352][Question Description = Q76_PubAdmin_SHAAN_NOV21]

D). (A, (C). (D)
(©). (A), (B), D)
(A). (B), (O). (D)
B), (C), (A), (D)

1. 1 [Option ID = 16871]
2. 2 [Option ID = 16872]
3. 3 [Option ID = 16873]
4. 4 [Option ID = 16874]

prepp

Your Personal Exams Guide

) 1In establishing conceptual foundations to his theory of 'Democratic Adminmistration' Vincent
Ostrom criticised the principal contributors of administrative theory. Identafy the sequence
of Ostroms crificism.

(A) Herbert Simon and Internal Structure
(B) Max Weber and Hierarchy
(CG)  Luther Gulick and Organizational Principles
(D) Woodrow Wilson and Unitary Power.
Choose the correct answer from the options given below :
(1) (©). (D). B), (A)
(2> (D). B), (C). A)
(3) D). (B). A). (O
4) (B). (D). (), (O)
AT TEE % T g % USetoTE STUR W UG w0 | e o A T Hgm %

YU ATGH HeAtsi i A=Al $i| 3weH =i Sei= * BH i TR i

(A)
(B)
()

D)

e faaE ot =it dtem
Ao Ao IR TG-|AH

i fou e faeet # ¥ wEl I F W Hifw

(1

(C). (D). (B). (&)
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(2)
(3)
(4)

(D). (B). (C). (&4
D). (B). (A). (C)
(B). D). (A). (C)

[Question ID = 4353][Question Description = Q77_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16875]
2. 2 [Option ID = 16876]
3. 3 [Option ID = 16877]
4, 4 [Option ID = 16878]

78)

The Pendleton Act of 1883 1n USA :

Y
(B)

(©)
)
(E)

Governs the personnel policies of the national government
Abolished the ‘Spoil System’ completely

Created the civil service commission
Iniroduced the ‘merit system’ throughout the federal government

Was an outcome of the assassination of President Garfield

Choose the correct answer from the options given below :

(1
(2)
(3)
C))

(A), (C) and (E)
(B). (C) and (E)
(B). (C) (D) and (E)
(A). (C) and (D)

Juaw d 1883 F/7 Usae sfatEm (7)

(&) TR TR i s i w FEtE w2
(B) ‘Te-@HER G UG TA B &

(C)  AFIcs T ST 6 FATET i)

(D) o efig weEd | A qonell’ went S|
(E) Tgufa mehies il 503 = 9y o

=1 fen o et | o @ 3Ot @ =254 il

Q) A, OB

@ B, (C) IR (E

3  ®.(C). D) (E)

@ (&), (O 3R (D)

[Question ID = 4354][Question Description = Q78_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16879]
2. 2 [Option ID = 16880]
3. 3 [Option ID = 16881]
4. 4 [Option ID = 16882]

79)

The traditional literature on ‘Comparative Government' focused on

(A)

(B)

Election machinery

Central Administrative Machinery

prepp
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(©) Pressure Groups Your Personal Exams Guide

(D)  Public Finance

Choose the correct answer from the options given below :

D (A) and (B)
(2 (B) and (C)
(3) (B) and (D)

@ (©and®D)

‘FoTeTH HUPR. R WK Afecd o TR SO higd 5 -

(A) THE W
(B) i wmmmeR A

(C) T3 WR

(D) <= e

fr2 o o fomrew § O T SR W =9 FifT

(1) () IR (B

2 (B AR (C)
(3 (B FID)

@  (C) (D)
[Question ID = 4355][Question Description = Q79_PubAdmin_SHAAN_NOV21]
. 1 [Optien ID = 16883]
. 2 [Option ID = 16884]

1
2
3. 3 [Option ID = 16885]
4. 4 [Option ID = 16886]

B0 Identify the ascending order of the following officers in Secretariat :

(A)  Director

(B)  dJoint Secretary
(C) Addl. Secretary
(D) Deputy Secretary

(E) Secretary

Code :

1) @W.®.0.0O.5E
@ (D), @A), B). O, E
(3 @M. B, ). A). (E)
@ B.O.O0O).6.®w

wfEer = veriterion = st smma i g Hisg)
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@) s

(B) =3F A
(C)  stidies wia
D) uukE

(E) =3

#=t fov mu et § € w8 s = =9w i

@1 A, ®). D), (O), (E)
@ D). A. B, ©).(E)
@ D). B ©O).W. (E)
@ B. 0O, D). 6B. A

[Question ID = 4356][Question Description = Q80_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16887]
2. 2 [Option ID = 16888]
3. 3 [Option ID = 16889]
4. 4 [Option ID = 16890]

81)  Identify the connect sequence of training for the IAS cadre after recruitment

(A) Professional
(B) Foundational

(C) Institutional
(D) Field

Code :

1 ®. A. D). ©)
@2  B). D), (0. A
3 (B).A).©G). D)
4 @®.0,0.W

el =h =g TG S2THh el ISt o G107 % el 7 hl TEEE I

@& g
(B)  omumm
©) wentw
D) hres

=t fou m fompet A @ wd) o w1 ==A hifse

@1 (B). A, D). O
@ B.MD. O, W
3 (B). Q. ©. D
4 (B, ). O. A
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[Question ID = 4357][Question Description = Q81_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16891]
2. 2 [Option ID = 16892]
3. 3 [Option ID = 16893]
4. 4 [Option ID = 16894]

82)

The President of India has the power to address both Houses of Parhament at the

commencement of :

(4)
(B)
(©)

(D)

The first session after general elections
Each session of Parliament
The budget session of each year

The monsoon session of each year

Choose the correct answer from the options given below :

(L
(2)
(3)
(4

(B) and (C)
(&) and (D)
(A) and (O
(B) and (D)

ARE % YUY ! FhE STH W §92 = 2] 91 i a9iita i 61 2fth w" 27

(&)

B)

©

(D)

3T AT % G W Taen

T2 F AT T

i =9 =61 w95z O

T =9 = A T

4= feu o femreat O O wEt IR = 9= hife

ey
2
(3)

4

(B) 3T(C)

(A) 3R (D)

(A) 3R (C)

(B) 3T (D)

[Question ID = 4358][Question Description = Q82_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16895]
2. 2 [Option ID = 16896]
3. 3 [Option ID = 16897]
4, 4 [Option ID = 1689%8]

83)

The stages in performance budgeting 1s given below. Identify their correct order.

(&)
(B)
G
(3

Classification of activaties for resource allocation
Identification of implementing alternatives in relation to cost and benefits
Evaluation of physical and financial achievement in relation to established standards

Objectives of each activity to be stated and the fixation of norms/standards for the

same
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Choose the correct answer from the options given below :

1
)
3
4

D), (C), (B). (A)
D). (B), (C). (A)
D). (A). B). (C)
D). (A), (C). (B)

fregres w92 5 9 Ji4 2 7 2| 39 w91 39 Fi uEaE 1]

(A)  "EER e % o el o i

(B) g of «rdl % day § fepeul =i i & 6 g
(C)  Tonfud Wi = Test o wifass a1k facia Suesdi = g
(D) = MRS % STl W Sg@ 3R 56 o7eW [/ gF od B
=t T v feereal § U 9E SOR W1 = i

(1 (D). (O, B, A

2 D).®),.©),’

3 (D).@A).®.(©

4 (D). (A), (C). (B)

[Question ID = 4359][Question Description = Q83_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16899]
2. 2 [Option ID = 16900]
3. 3 [Option ID = 16901]
4. 4 [Option ID = 16902]

84)

Arrange the following in a sequence

(&)
B
(8)
D)

Invocation — Legislation for policy rules or laws
Prescription — Adoption of policy alternatives
Intelligence — How information is processed to formulate policy objectives

Apphication — Enforcement or implementation of policy

Choose the correct answer from the options given below :

D (). A, D). (B)

2 (©).®), D). "

3) (©). (B), (A). D)

@ (©0.D),A).®
Freaferfiaa = =81 79 3 =aftaa 31

(&)

B)

TR — Hiferra Fremt 3 fom faum @ Fr 3

Faror — Hifera Berem F 3T
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(©) onge — Fifama Seve Faiia w9 % e ge =1 50 oeR Jas B ST 2
(D) 9T — a1 yada =1 FEt=ad

T oo o famedt § § 1 3w w9 I

1 ©.A4.0O.0B

2 (0. ®), D).’

(3 (©). B). (4). (D)

4 (0. D),A). B
[Question ID = 4360][Question Description = Q84_PubAdmin_SHAAN_NOV21]
. 1 [Option ID = 16903]
2 [Option ID = 16904]

3 [Option ID = 16905]
. 4 [Option ID = 16906]

oW =

83) Arrange the following 1n a sequence in which they are to be performed 1n Data Processing in

social research :

(A)  Tabulation
(B)  Editing

(C) Classification
D)  Coding

Choose the correct answer from the options given below :
1 B D), O A
@ ®.CLA. O
3 B @A) D), (©)
49 (B).A), Q. D)

frafafias i s 75 § w=afern =t Tt votes g o e wafim § o s g

(A)  WRElER
® "I
(© =t
(D) e T

fr= fiv 0 fred 9 @ TE o) F1 991 iR

@O B.{D), O, A
@2 (B, ), A), D)
3 (B, @A), D), ()
@ (B @A), ). D)
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1. 1 [Option ID = 16907]
2. 2 [Option ID = 16908
3, 3 [Option ID = 16909]
4, 4 [Option ID = 16910]

86)

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R :

Assertion (A): State Governments need not be consulted by the centre, when law made

on the subject of concurrent list.

Reason (R) : Center should make law only on those subject in the concurrent list where

uniform policy 1s essential.

In the light of the above statements, choose the correct answer from the options given below :

(1)
(2)
6))
€]

Both (A) and (R) are true and R 1s the correct explanation of A
Both (A) and (R) are true and R 1s NOT correct explanation of A
(A) is true but (R) 1s false

(A) 1s false but (R) is true

e gt o fow o ¥ ww ifiEE (Assertion A) % v d fuiflaa 2 Al g@w s9% w0 (Reason R) %

L2

4,

AR (A) ared] gl % favg W wEH-FE % @HE ey SRR g U9d 9ORR | wmel i

aF (R)

2ATETIHAT ol 2|

g TR B GHa gEi | Fae o v W e s Wi wEl vwegar Sy i
Afram 2|

ITE FHU F ST |, 19 2T T fFweun § ° T8 I F 999 S

1)
2)
3

(4

(A) 3R (R) 31 &1eq 2 ok (R), (A) Fi ot =ameqn 2

(A) 3T (R) 2F1 o7 &, &f (R), (A) @&t =amen T3 2

(A) AT 2, ©ifr (R) 9T 2

(A) 318 2, #fp (R) 9 3

[Question ID = 4362][Question Description = Q86_PubAdmin_SHAAN_NOV21]
1. 1 [Optien ID = 16911]
2. 2 [Optien ID = 16912]
3. 3 [Optien ID = 16913]
4. 4 [Option ID = 16914]

87)

Given below are two statements :

Assertion (A):  The scheme, Integrated Programme for older persons, was revised 1n 2008.

Reason (R) : It was revised to include new projects such as maintenance of respife care

homes and continuous carehomes etc.

In the light of the above statements, choose the correct answer from the options given below :
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(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II is true

= 51 e o 2
FFI:  Ig ARHAN = O WETRd FEHA T 2008 F TRt 5 T oA

F I ST TR RN S 5 oTRM TRl (e FR 2r) oR Had SuuT Tal o % WEad

T WS #4570 Aene e T o)
SUH HYA b ITAE 1, J feu 1u fawent § O g 3 W = Hitay

(1)  F2A 1R I 5F 9c3 2
2)  FoA Iofw I s 2
(8) = 19w 2, @i+ 11 999cd 2

(4) w2 I 3cT 2, ofe w2 I 8o 2
[Question ID = 4363][Question Description = Q87_PubAdmin_SHAAN_NOV21]
1 [Option ID = 16915]
2 [Option ID = 16916

]
[Option ID = 16917]
]

1.
2.
3.3

4. 4 [Option ID = 16918

88)

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R :

Assertion (A):  Governability of policy decisions depends on the support it ehects from
different stakeholders.

Reason (R) : Policy decisions need effective political communication to all stakeholders

for support and cooperation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and R 1s the correct explanation of A
(2) Both (A) and (R) are correct and R 1s NOT correct explanation of A
(3) (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

= T FoF fou e B oF SIfEUN (Assertion A) % ¥4 U {&fad 2 @ 30 3% TR0 (Reason R) F

g
=9 °;

A (A) ; Hiferra Forr i wreere faftm arfiert & wmm wmss w ik 2
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+ru (R) ; Hifarra Fofat & wft wriie! & g9 @ w2 wE 6 % fon gt veEifes ato

= AETIFAT 2

U 2 b ek |, A= fau mu fompeat d o @d s #1 == fifse

(1)
@)
3

(4)

(A) 3 (R) 3t @l 2 3R (R), (A) A gl oarer

(A) ¥R (R) I W& E, S (R), (A) Fr & =mem w6 R
(A) w2l 7, @i (R) o el @

(A) Tat TE 2, T (R) W B

[Question ID = 4364][Question Description = Q88_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16919]
2. 2 [Option ID = 16920]
3. 3 [Option ID = 16921]
4. 4 [Option ID = 16922]
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89) Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion (A):  Public Policy 1s oxygen for growth and development of a country

Reason (R) : No goals of a country 1s achieved without Public Policy

In the light of the above statements, choose the correct answer from the options given below :

(L
@)
(3)
4

Both (A) and (R) are true and R is the correct explanation of A
Both (A) and (R) are true and R 1s NOT correct explanation of A
(A) 18 true but (R) 1s false

(A) 1s false but (R) 1s true

el g w9 fag  E: ww iR (Assertion A) % T # faflaa € A g@w 9% %R0 (Reason R) @

g H;

Al (A):  FEeeE i 5@ 6 giE ok e % for efmdise 2

HT (R) : TS A1 % & <3 F1 s @59 W T8l 2 21

IR T STl W, i 6T T e ¥ W UE IO W 99 S

ey
2)
(3

4

(A) 3R (R) 31 @rex # ol R), (A) 1wl =are 2
(A) 3 (R) 2T e 7, @ (R), (A) A w8t =amen 77 2
(A) T 2, ST (R) o157 2

(A) 19 £, @ (R) 9 2
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[Question ID = 4365][Question Description = Q89_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16923]
2. 2 [Option ID = 16924]
3. 3 [Option ID = 16925]
4, 4 [Option ID = 16%26]

90)

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  The horizontal networks of public, private and non-profit organizations are

the new structures of governance.

Reason (R) : The collaborative nature of modern efforts to meet human needs rather

than hierarchy and control is the basis of governance.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true and R i1s NOT correct explanation of A
(3) (A) is true but (R) is false

(4) (A) 18 false but (R) 1s true

T 7 w9 faw e #: vF TR (Assertion A) % ¥ W fORad ® @ gEU 35% R0 (Reason R)

TIH

=
.

iR (A): o, e ok N o gl W SR ead e w1 T4 g 2

F1 (R) : YRR 3T FRE A sTaTEEaietl Wl Y YR Tl i HearmoAs

TR WIEE T SR 7

ST T H EE 4, 1= o v et 1 @ 99 s W 99 il

@) @ 3k ®) FF g £ 3R R), Q) F v =T 2

@ (&) AR ®) T T E, A R), Q) AT e T 2
B (A w2, e ®) swa R

@) (A A R, AR (R) T 2

[Question ID = 4366][Question Description = Q90_PubAdmin_SHAAN_NOV21]
1. 1 [Option ID = 16927]
2. 2 [Option ID = 16928]
3. 3 [Option ID = 16929]
4. 4 [Option ID = 16930]

Topic:- PubAdmin_B

1) Read the following passage and answer °

Perhaps the most important determinant of the integrity of a society or the prevalence of
corruption is the guality of pohtics. If politics attracts and rewards men and women of
integrity, competence and passion for public good, then the society is safe and integrity 1s
maintained, But if honesty is in compatible with survival in politics, and if public life
attracts undesirable and corrupt elements seeking private gain, then abuse of authority and
corruption become norm. In such a political culture and chimate, desirable imitiatives will not

IRy S0 P ORI LTS, oot [ITUNS: [IRENNNT o, HTTNPSSSNPRNE Do Fiop RPNt [0, | ARRSEPRTS DAPRIEN, (o} SONPIE i JNUVTIP SRS PEPMPTY Tt (O, SRS ry ¢ DO TR PR DRSO PTU PR T U PR U
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certain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
1llegal funds in politics, then other avenues of corruption will be forcibly opened up. As a
result, even as corruption dechines in certain areas, it shifts to other, sometimes more
dangerous in which competition cannot be introduced and the state exercises a natural
monopoly. What 1s needed with lhberalisation 1s corresponding pohtical and governance

reform to alter the incentives in politics and public office and to promote integrity and
ethical conduct.

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and

deserve closer attention. In a vast majority of cases of bribery, the citizen is a victim of
extortion and is compelled to pay a bribe in order to get a service to which he 1s entitled.
Experience has taught most citizens that there is a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays, harrasment, lost opportunity, loss of precious time and wages, uncertainty and, at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-compliance with demands. In such cases. the citizen 1s an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption, both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recrulitment of emplovees, evasion of taxes. substandard projects, collusive violation of
regulations, adulteration of foods and drugs, obstruction of justice and concealing or
doctoring evidence in investigation are all examples of such dangerous forms of corruption.
As the economy 1is freed from state controls, extortion corruption declines and collusive
corruption tends to increases. We need to fashion strong and effective instruments to deal

with this growing menace of collusive corruption, which 1s undermining the very foundations
of one democracy and endangering society.

Which of the following are the determinants in the context of “guality of politics™?

(A) Prevalence of corruption
(B) Integrity of society
(O Initiatives and dividends

(D) Reward for men and women of integrity in polities.

Choose the correct answer from the options given below :

@ @B, O
2 B, ). D
@ @), ®B), D
@ A.©. D

1 T W YRe ST oI

TUEd: THIS I STESA AYAT YPTER i SAWhal H AEcayy FUiE 2 Temiia A e A T
TGS, AHTEE R IcETE TN R G W TH-HeAm # o aria ot TEEd A 2, 9@ uEe
it 2 5 suhl stgsar i Gt 81 wig TR Torifa § SAFer T w1wE € oiR a9 WEstiees S
wfehia =l ol 1E W@ al STeTeArd 3T WY dedl w1 SN Hial 8, 99 Sl 1 Ui S HeEn
A YiGHE S99 STd 1 39 WHRE hi UoHitd HOhid SR aiae 8 aigHiE TgermeiEl agtad o TE
e wtt| sfeaifien s fesdieanr fHivee =1 9 53 fivga aat & yeem § o6 e £ wig a9l seEw
£t A wifa A e g7 oy A ses y@ @ wfenfaa 2, 99 YeER 3= Al SeeEd e )
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STYETHA STTUF AT & W, Tel aairiar i i T T A ofR SRl U5 UF WHd TR
% T U B BT 2] SSREAOT Th WY AR ATETARdl 2 % TEif ofR SeEedl § RE-gaR % fom
ufERE IR sT@ea a9 A% STaER & ieaTey oy USHifaeh I Teat-rs Uil 5 ste e 3|

wErER % @it w9 frefr € ol wEmER % ufa uF i srelpta A1 Tepl w g9 iearsd T A Ry
WETOR % F% T g Il SWa A aas 8 R It e i v w2 RvaaEd & s e
H, A TE-EaE-% ReR o 2 iR 39 dan i g % o, R 98 ewer 2, o o ag foaa
34 W WA B B ST e WS sva 3 7 e fon @ % yEER W uw gres 2 ek
yEER w1 BY W A 9 THE 38W 2 foom, wae, smed W @i, Fid v e uegd W
THeH, AAteaaar R Ffi-Ffi-=fem =1 o % TFEm + wau-geeEn Wy ok 9 A s &
TROTTEEY TS 37 Uad &1 TH YHR H 92967 § UH TG ard ®9 8 YR F SE SR Sl
2 df 33 W ot wmEwm e f o fogmmm ot o @l dam B dm
Hiz-s 2idt & | gis—uis aeh yeew & geedt ¥, gae f wili Fue w g D e amw, ve w9 A
AR (A TR 9o Sl ST Al = ey, FHenten 6 wdfl, Wi w0 orrae, e il 6
ufarsETe, fafemt = gimtget g o i g § e, = | sae o Ste | avat % T
DSBS AT 3¢ ZUAT-A A ISTEWT WETEH <k TFaTF BT 7| «, Fe{P AUHGEA T=F * =0 4 0w 2,
Tz O werer ¥ e ong 2 aon gty s iz o weren A gfs g 31 e enavena
2 o TN wereE SRy ale @ drmrEr i S sed g wiaTiie A e WerER ) g
M wh, I % rpan i g B Eieen W 2 20 59 H Ew A S @ 2

P .Y . "

‘Tt = AT 5 ge | Fefoiad # ¥ B o HUos B

Al

4

(A)  YETER T TEeE
(B) T = =Sl

(C) wrerHaliEl ofit v

(D) it § srdsar et gedl st Rt = fae wer

Hr= fZu e forrewt 1 ¥ W W YR

1 A.B.O
@ ®.0.0

3 @B O
@ @A), 0. D

[Question ID = 4367][Question Description = Q91_PubAdmin_SHAAN_NOV21]
1. 1

[Option ID = 16931]
3.7

[Option ID = 16932)]
3.3

[Option ID = 16933]
4, 4

[Option ID = 16934]

Z) Read the following passage and answer :
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Perhaps the most important determinant of the integrity of a society or the prevalence of
corruption is the guality of polhitics. If politiecs attracts and rewards men and women of
integrity, competence and passion for public good, then the society is safe and integrity 1s
maintained. But if honesty 1s in compatible with survival in politics. and if public hife
attracts undesirable and corrupt elements seeking private gain, then abuse of authority and
corruption become norm. In such a political culture and chmate, desirable initiatives will not
vield adequate dividends. Competition and decentralization certainly reduce corruption in
certain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
illegal funds 1n politics. then other avenues of corruption will be forcibly opened up. As a
result, even as corruption dechnes in certain areas, it shifts to other, sometimes more
dangerous 1n which competition cannot be introduced and the state exercises a natural
monopoly. What is needed with liberalisation is corresponding political and governance
reform to alter the incentives 1n politics and public office and to promote integrity and
ethical conduct.

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and
deserve closer attention. In a vast majority of cases of bribery, the citizen is a victim of
extortion and is compelled to pay a bribe in order to get a service to which he 1s entitled.
Experience has taught most citizens that there is a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays, harrasment, lost opportunity. loss of precious fime and wages. uncertainty and, at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-compliance with demands. In such cases, the citizen 18 an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption, both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of employees, evasion of taxes. substandard projects, collusive violation of
regulations, adulteration of foods and drugs, obstruction of justice and concealing or
doctoring evidence in investigation are all examples of such dangerous forms of corruption.
As the economy is freed from state controls, extortion corruption declines and collusive
corruption tends to increases. We need to fashion strong and effective instruments to deal
with this growing menace of collusive corruption, which 1s undermining the very foundations
of one democracy and endangering society.

The inexhaustable appetite for 1llegal funds 1n politics leads to

(1) competition and decentralisation

(2) competence and passion for pubhc good
(3) state monopoly of all sectors

(4) opening of new avenues for corruption
1 TETw W UeE S Al

TUEG: THS % STESA YA WETER i Al 1 Hacaqy Ui 2 Useita e A aeita
TGS, FHTEE R IoETEl TN R T W TH-Fenw # o arwiia ot TEEa Wl 7, 7@ aEe
it § o sEeh ongsar s Tl 21 wg 3 oodita 4 $EME w1 ovE € i 4R wEsies Sfiem
wfehia ol ol 1R 1@ A STereArd 3T Y dedl w1 S Hial 8, 99 Sl H gUEiT S WeEn
AW YiGHE §F STd 1 39 WHRR hi UsHil §ehid S aiae # aigHiE TeemeiEl agtag o E
wer et | wfeefien s frbedemor FiTwa =0 @ e Afvwa el 3 werm F i w21 vig a9l geEn
£t A weHifa A e ga oy A sEe y@ @ afenfaa 2, 99 YeRR R 3= A Seesd g@e |
TfoTOREEY, WeER A %9 faww & f @9 ff o 2, 7m o & ° WdEaia o s 2, -
ST UF WA &P |, FEl ITOAea 1 g THE TE B 2TR el 99 TF Fad THIGe

% BT H A BT 2] IGRERO % A9 TR SETTRd] 2 76 Teril SR Sl § IRE-gaR $ forn
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TAW=IAET] WS WAIRROA T AT IR TR Y, TR AT AR QH TWEETLIIAE T IR AT }‘.'-];‘"ll\l i L TR IR 0T g

wErER % wft w9 fefr € ol wemER % ufa uw i srelpta A I H g iearsd T A Ry
WETOR % F% T g0 I 3Wa A aras 8 o It s i v w8 RvaeEid & s e
W, T Tg-EaE-% ReR o 2 IR 3@ dan i % o, R 9w awen 2, s o ag foaa
3 W WeA g 2| e ArTienl W S ova 3 ¥e R e ¥ yEem w6 s gres @ ol
PR w1 By W 3 9l THEE 3I8W 7 faom, wae, smed W @, Fidt T e wegd W
THeH, AAteaaar R Ffi-wfi-sfem =0 o % e = wau-geen Wy 3R 9 A s %
TROTTEEY T 37 Ud 81 0 YHR I 926 § UH AU ard ®9 W YR F SME R S
2wt 3m W R wmmw R oo fowegmw o o wr ool @@ B s
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3) Read the following passage and answer :
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Perhaps the most important determinant of the integrity of a society or the prevalence of

corruption is the guality of pohtics. If politics attracts and rewards men and women of

integrity, competence and passion for public good, then the society is safe and integrity 1s
maintained. But if honesty is in compatible with survival in politics, and if public ILife
attracts undesirable and corrupt elements seeking private gain, then abuse of authority and
corruption become norm. In such a political culture and chimate, desirable imitiatives will not
vield adequate dividends. Competition and decentralization certainly reduce corruption in
certain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
illegal funds 1n politics, then other avenues of corruption will be forcibly opened up. As a
result, even as corruption declines in certain areas, it shifts to other, sometimes more
dangerous in which competition cannot be introduced and the state exercises a natural
monopoly. What 1s needed with hberalisation 1s corresponding pohtical and governance

reform to alter the incentives in politics and public office and to promote integrity and

ethical conduct.



www.prepp.in

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and
deserve closer attention. In a vast majority of cases of bribery, the citizen is a victim of
extortion and is compelled to pay a bribe in order to get a service to which he 1s entitled.
Experience has taught most citizens that there is a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays, harrasment, lost opportunity, loss of precious time and wages, uncertainty and, at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-compliance with demands. In such cases, the citizen 1s an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption, both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of emplovees, evasion of taxes. substandard projects, collusive violation of
regulations, adulteration of foods and drugs, obstruction of justice and concealing or
doctoring evidence in investigation are all examples of such dangerous forms of corruption.
As the economy 1is freed from state controls, extortion corruption declines and collusive
corruption tends to increases. We need to fashion strong and effective instruments to deal

with this growing menace of collusive corruption, which 1s undermining the very foundations

of one democracy and endangering society.

Which of the following are the consequences of resisting corruption and/or non-compliance of
demand?

(A) Delays

(B) Missed opportumty
(C) Rewards

(D)  Loss of life or imb

Choose the correct answer from the options given below :

(1) (&3). (B), (O

(2) (A). (B). (D)

(3) (B). (C), (D)

(4) (A). (C), (D)
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4) Read the following passage and answer ;

Perhaps the most important determinant of the integrity of a society or the prevalence of
corruption is the guality of pohtics. If politics attracts and rewards men and women of
integrity, competence and passion for public good, then the society is safe and integrity 1s
maintained. But if honesty is in compatible with survival in politics, and if public ILife
attracts undesirable and corrupt elements seeking private gain, then abuse of authority and
corruption become norm. In such a political culture and chimate, desirable imitiatives will not
vield adequate dividends. Competition and decentralization certainly reduce corruption in
certain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
illegal funds 1n politics, then other avenues of corruption will be forcibly opened up. As a
result, even as corruption declines in certain areas, it shifts to other, sometimes more
dangerous in which competition cannot be introduced and the state exercises a natural
monopoly. What 1s needed with hberalisation 1s corresponding pohtical and governance

reform to alter the incentives in politics and public office and to promote integrity and
ethical conduect.

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and

deserve closer attention. In a vast majority of cases of bribery, the citizen i1s a victim of
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Experience has taught most citizens that there is a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays, harrasment, lost opportunity, loss of precious time and wages, uncertainty and, at
times, potential danger of loss of life or limb could result from resistance to corruption and
non-compliance with demands. In such cases, the citizen 1s an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption, both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of emplovees, evasion of taxes. substandard projects, collusive violation of
regulations, adulteration of foods and drugs, obstruction of justice and concealing or
doctoring evidence in investigation are all examples of such dangerous forms of corruption.
As the economy 1is freed from state controls, extortion corruption declines and collusive
corruption tends to increases. We need to fashion strong and effective instruments to deal

with this growing menace of collusive corruption, which 1s undermining the very foundations
of one democracy and endangering society.

In Coercive corruption, the citizen is

(1) A willing partner
(2) A willing collaborator in corrupt activities
(3) An unwilling victim

(40 A corrupt public servant
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3) Read the following passage and answer :

Perhaps the most important determanant of the integrity of a society or the prevalence of
corruption is the guality of pohties. If politics attracts and rewards men and women of
integrity, competence and passion for public good, then the society is safe and integrity 1s
maintained, But if honesty is in compatible with survival in politics, and if public life
attracts undesirable and corrupt elements seeking private gain, then abuse of authority and
corruption become norm. In such a political culture and chimate, desirable imitiatives will not
vield adequate dividends. Competition and decentralization certainly reduce corruption 1n
cerfain sectors. But if the demand for corruption is fuelled by inexhaustible appetite for
illegal funds 1n politics, then other avenues of corruption will be forcibly opened up. As a
result, even as corruption declines in certain areas, it shifts to other, sometimes more
dangerous in which competition cannot be introduced and the state exercises a natural
monopoly. What 1s needed with hberalisation 1s corresponding pohtical and governance
reform to alter the incentives in politics and public office and to promote integrity and
ethical conduct.

All forms of corruption are reprehensible and we need to promote a culture of zero tolerance
of corrruption. But some forms of corruption are much more pernicious than others and
deserve closer attention. In a vast majority of cases of bribery, the citizen i1s a victim of
extortion and is compelled to pay a bribe in order to get a service to which he 1s entitled.
Experience has taught most citizens that there is a vicious cycle of corruption operating and

they often end up losing much more by resisting corruption.

Delays, harrasment, lost opportunity, loss of precious time and wages, uncertainty and, at
tumes, potential danger of loss of life or limb could result from resistance to corruption and
non-compliance with demands. In such cases. the citizen 1s an unwilling victim of coercive
corruption. But there are several cases of collusion between the bribe giver and corrupt
public servant. In such cases of collusive corruption, both parties benefit at immense cost of
society. Awarding of contracts for public works and procurement of goods and services,
recruitment of emplovees, evasion of taxes. substandard projects, collusive violation of
regulations, adulteration of foods and drugs, obstruction of justice and concealing or

doctoring evidence in investigation are all examples of such dangerous forms of corruption.
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As the economy 1s freed from state controls, extortion corruption declines and collusive

corruption tends to increases. We need to fashion strong and effective instruments to deal

with this growing menace of collusive corruption, which 1s undermining the very foundations
of one democracy and endangering society.

Liberalisation and an economy free from state control tends to increase

(1) Collusive corruption
(2) Coercive corruption
(3) Extortion corruption

(4) Corrupt public servant
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Topic:- PubAdmin_C

1)

Read the following passage and answer :

Urbanization is a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asia and Africa and these
continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz.. Tamilnadu, Gujarat, Maharastra, Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a quarter of the districts have urbanization higher than the
national average. Village culture in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood lines, unfamiliar relations and competitive behaviour. In present times. urbanization
and migration of people from rural to urban area began with industral revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase in educational and health facilities, better civic services are to be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it

can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of af least 400 in a square km. Population land use, density,
employment etc are broadly the components of urban definition with vamations between
countries. Most of the countries the population of 5000 to be called urban, but 200 1n
Denmark, Japan and China with very higher thresholds of 50,000 and 1.00,000
population respectively. Some countries use infrastructure and service provisions also
criteria for defining urban area. Hence it 13 a problems of meaningful comparison at
international level.

Increased pace of urbanization required better Governance of cities and towns. For better
Governance various reforms required viz., property tax, E-Governance, public private
partnerships, corporate social responsibility, citizen character, service level bench marks,
local body ombudsman, strengthening finance commissions ete. These reforms would
provide Good urban Governance. Green plan and budget, pollution control, air quality
1mprovement and also necessary. 15® Finance commission in its report mentioned that
specific fied grants to urban local bodies be given, particularly to million plus cities. to
control air pollution.

Which of the factors characterize urban culture?

(A) Intimate relationship
(B) IDistant blood lines
(C) Competetive behaviour

(D) Communal behaviour
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2)  Read the following passage and answer :

Urbanization is a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asia and Africa and these
continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz.. Tamilnadu, Gujarat, Maharastra, Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a quarter of the districts have urbanization higher than the
national average. Village culture in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood lines, unfamiliar relations and competitive behaviour. In present times. urbanization
and migration of people from rural to urban area began with industral revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase in educational and health facilities, better civic services are o be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it

can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of ai least 400 in a square km. Population land use, density,
employment etc are broadly the components of urban definition with varmations between
countries. Most of the countries the population of 5000 to be called urban, but 200 1n
Denmark, Japan and China with very higher thresholds of 50,000 and 1.00,000
population respectively. Some countries use infrastructure and service provisions also
criteria for defining urban area. Hence it 13 a problems of meaningful comparison at
international level.

Increased pace of urbanization required better Governance of cities and towns. For better
Governance various reforms required wviz., property tax, E-Governance, public private
partnerships, corporate social responsibility, citizen character, service level bench marks,
local body ombudsman, strengthening finance commissions ete. These reforms would
provide Good urban Governance. Green plan and budget, pollution control, air quality
unprovement and also necessary. 152 Finance commission in its report mentioned that
specific fied grants to urban local bodies be given, particularly to million plus cities. to
control air pollution.

According to United Nations projections :

f.ﬁ.\ “..Ilrﬂ':ﬂ“‘.‘+"l? ﬂp r:lﬂl'lﬂl M“111ﬂ+1.ﬂ“ }1‘.1!&“ :'\ 11“1'["“ S S
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(B)  African continent will have more towns and cities
(C) Developed world stagnate in urban growth

(D)  Asian population migrates in reverse

Code :

(1) A, ©)
(2) (&), (B)
(3) (©). D)
(4) (B), (D)

=1 TR i RE ST Sl

wreliep Afm e 21 Rwaend e i o o aler sm weh & A wdl 2 i d@ge Uy @m
(I7) 6 Wl = AR 2050 9% Fmiia g f 64% sAuen it ferka fa i s6% welh @
STl 7 gy wRen 3R iR § wgd gl ol 37 Al Sl e 9 TR g SR WA weid
H FIH 2 B 2030 TF 9 B 40% FHEEA wed 7 Sl #2050 7% 51% o it dfneft i
T % SR 2030 a9 i TeAl, 31974, afierg, ToE, SR, FieE SR e, B SEen 50%
o afers wi=dl 2PN 2011 1 S % AR i wE-dums e o weiee e oftma | a1t 2| O
oA, TFE TEY TR TR SR A TRt % ifiree § Sats fafim Jusn, sithm gey aii
fifeit st ekt wopfa # arftreer 3| odm T A e ok gl e W el aE % o B
TEEA F AR i S W gen oW Rvasmdt TR W gl W 21 36k 9o Wall W TR HeuArdia af
T 2| WSl @A § Irn w6 e, aedl g8, SHUEE W T E 0 Jeior &E 6 Sgnd g, TSR 6
dgat aur feek e, SEat St i geT, amifas asfiaar o @vgwe, B 9 s gl
g ST sigat Ariien Garstl B wEdHo & g9 HRUT % T F @A =EY) A 4% TEET B B0 &
=l e i gfg % gw ° | vaeA B Haw aefin @ ol F wo § 76 afew wd @ owli F A of
e =t

W | ST § el A o @ = gt Bee srar 311971 § sS 18 e < gt 6t sig
I weft ATt o i siEEn T 2] Ees SHER el s i 2 (a) =gHad 5000 SEEE g wifE;
(b) 7l SEET B B A B 75% A-H B § dem B ARG, () Bu F B 400 uF o
el =1 sHEEn e g1 =Ry SAEEn, 4 @ Sm, ohen, TR Sedfe O @R WowEd A
afeqTo % TP & SR SUR T <9 W g 2W 4 uiS Iiteds g 31 st mn d 5000 it sEEn @@
WEll FE A@1 3 W ST | AR GEA 200 B 2 9@ AuE AR HH 2 T diun 9gd W B, wE
50,000 3R 1,00,000 SFEEAT| TEd &7 Bt AN FH F AES F T 01 TS TF SNURHT T R
BT WG A Sl S F o TAF T 3| THY A8 STEE TR R IS geA i HE 2

gur =nfey, J¢ wafa =, $-7ema, geatm-Aet arfiedl, G ames soefiam, anfes atema,
g =R P oW, i B sirasaty, e aE 0 g 39id) s ga °@ saa wed
aAfrres e g T aee, TEEw FEm ok arg e § gur ot stEvs 21 1S 9 e smam A
st T & == 1 6 arg wgmer =i FeEtn w0 % e wwl s feel = e o o @ srivs
SEE I TR A, fafw ag emem e s )

T T WG H TG  ITIAR

(A e i sifire s wed o gl O wl
B  eheh gee O sftes wE-w B

(C) Torwitm fava 9 wett afg Tor &1 =k
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[Question ID = 4373][Question Description = Q97_PubAdmin_SHAAN_NOV21]
1. 1

[Option ID = 16955]
3.2

[Option ID = 16956]
3.3

[Option ID = 16957]
4. 4

[Option ID = 16958]

3) Read the following passage and answer :

Urbanization is a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asia and Afrmeca and these
continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz., Tamilnadu, Gujarat, Maharastra, Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a quarter of the districis have urbanization higher than the
national average. Village culiure in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood lines, unfamihiar relations and competitive behaviour. In present times, urbanization
and migration of people from rural to urban area began with industrial revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase In educational and health facilities, better civic services are to be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it
can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted 1n successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of at least 400 in a square km. Population land use, density,
employment etc are broadly the components of urban definition with variations between
countries. Most of the countries the population of 5000 to be called urban, but 200 in
Denmark, Japan and China with very higher thresholds of 50,000 and 1,00,000
population respectively. Some countiries use infrastructure and service provisions also
criteria for defining urban area. Hence it i1z a problems of meaningful comparson at
international level.

Increased pace of urbamzation required better Governance of cities and towns. For better
Governance various reforms required viz., property tax, E-Governance, public private
partnerships. corporate social responsibility, citizen character, service level bench marks,
local body ombudsman, strengthening finance commissions etc. These reforms would
provide Good urban Governance. Green plan and budget, pollution control, air quality
unprovement and also necessary. 152 Finance commission in its report mentioned that
specific tied grants to urban local bodies be given, particularly to million plus cities. to
control air pollution.

In India urban area characters were defined by

(1) Government of India Act (2) Census of India
(3) Characters will change in time (4) As per the provisions of local bodies
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wrefert Aftrp we 21 Rraed swaen A sl o siftrr o sl 2t A w2 o W g aw
(Fm7) 6 WA = AR 2050 7 ewmntia g f 64% e ot feelm fava 1 s6% welh @
srwfil 77 gig wfien ok s o siga eft o) <7 werdil o orft W @ TR FF) wRe W oge vl
H FIA 2 B 2030 T UG H 40% FAEEN Wl g I 3 2050 96 51% § ) Al
et % SHER 2030 % qid TsAl, A9q afieHg, T, HERg, wAlew 3R UsE, 6 SHEe 50%
o stfers wlt 7R 2011 6 SET % sER ot wh-dud faet d weleor udi oftwad @ ot 3) e
dern, UFE TeY IR FEEER SR IHIT GEpt % siftras 3 smts faftm semen, swofthm ey si
fafemrtt sTerw wed wepta % wfiera 31 aEm T 9 Tedrne ofR T 4 § Wed o 3 @
YT W URN SR i # gen R fvaeadt TR W S w1 21 36 ded Wl W SR Howdi B
STl 21 wed g 6 s w5 fawr, sedt g, e w1 wR uE A gofor &3 w5 ewmd g, TSR %
ST AT D ST, TRk STk 1 901, AerRr Tiasiear 9 @wwa, e aon e gfawrst A
hg T stEaR TAIEh Harel i WelHwl % e UM b TY H T WG A I VA b B0 § 3R
welt Torpm H1 9fg % g 1 21 wEe H had gl O weht % w0 0 1 afew well ¥ wgli h vy 0
S =t
IR ° ST | R S % ST 1 SR R ST 21 1971 § SR T ST S aRETST i A
=1 Tt TPt § ot I T 2| 3 oTIER Wl W 9T § (a) =AW 5000 SFEEH1 TF WIRT;
(b) il SEEA ® FH W FH 75% W-HY Al § GeW o0 WY IR () BT F Fh 400 Tia
el =1 SFEEE oo B Wiewl SHEE, 4 W 39ER, She, USRSy Wie 9 R OWald i
qiAT % e B TR SOW OF oW W R 29 H 9IS Wiadd B 3] SAfeehar 29 % 5000 i SFEEA H
well FE T & W SR § ¥ WEH 200 & 2 FEih 9 o W A ¥ Tfimd sga oWt g, we
50,000 2T 1,00,000 FHEAT| W&l &7 H 9fonfia F % AFEE % ¥ 09 TT ¢ SWURE TAT 31
a1 WgH = it Sraen %1 i T w3 3T 78 A T ) i gedr $ 3uE 7

wrefior Bl st g2 i % f st - 1 Arat sftEeE sEyT s ) Suw siftemem % faw e
FUR =0, S Fufa W, $-Ta-E, AEstrm-et v, Frfia amfss soertica, i sfter,
Hal TR % 9OH, EE e siresaty, e AE 1 aeRhe 3eaie) S g9 | S wEd
aAfrmes e g e oo, Jeu FREE 3R 9T e § ger ot st 31 15 9 B e A
Tt foare 7 == 1 5 arg T PR w1 % T wel wure T e 5w e W i
SO 9 TR A, ffe ag ewgem fan s wfig

aTd # TR S % S W eEe uetie fem

(1)  9ng "R afutEm (2) 9rA = FFOE
(8) WA * WY AT H UiGdT 5 @ TEE FEE % IEgE e
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[Option ID = 16%60]
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[Option ID = 16961]
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[Option ID = 16962]

4) Read the following passage and answer :

Urbanization is a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%

of developed would be urban. This growth will be much in Asia and Afrca and these
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reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz., Tamilnadu, Gujarat, Maharastra, Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a quarter of the districis have urbanization higher than the
national average. Village culture in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood lines, unfamihiar relations and competitive behaviour. In present times, urbanization
and migration of people from rural to urban area began with industrial revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in

urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
increase In educational and health facilities, better civic services are to be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it
can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of at least 400 in a square km. Population land use, density,
employment etc are broadly the components of urban definition with variations between
countries. Most of the countries the population of 5000 to be called urban, but 200 in
Denmark, Japan and China with very higher thresholds of 50,000 and 1,00,000
population respectively. Some countiries use infrastructure and service provisions also
criteria for defining urban area. Hence it i1z a problems of meaningful comparson at
international level.

Increased pace of urbamization required better Governance of cities and towns. For better
Governance various reforms required viz., property tax, E-Governance, public private
partnerships. corporate social responsibility, citizen character, service level bench marks,
local body ombudsman, strengthening finance commissions etc. These reforms would
provide Good urban Governance. Green plan and budget, pollution control, air quality
unprovement and also necessary. 152 Finance commission in its report mentioned that
specific fied grants to urban local bodies be given, particularly to million plus cities. to
control air pollution.

Which finance commission hinked the grants to local bodies with an objective of control air
pollution?

(1) 14 Finance Commission (2) 10%® Finance Commission

(3) 15% Finance Commission (4) 13® Finance Commission

wrefiertr Aftrs we 21 Rraemd swaen A sl o st o sl e A wdt 2 ol W g am
(I7) 6 Wl = AR 2050 9% Twmeiia g f 64% sAuen ot fewim fova i s6% weh @
seftl 7 giy oftmr oi i § aga grft o o aedial § sifdes e 9 PR F) Snd 9 e vl
N FI 2 Bl 2030 TF UG H 40% FAEEA WEl 7 Al 3K 2050 9% 51% W Aftrm) wiwwd
TEgfa % SR 2030 A% i UsAl, 31974, afierrg, ToE, SR, FeE SR oo, B SEen 50%
o arfers il TN 2011 1 ST % AR i wE-2uT e ° weiEe e oftwa § At 2| O
oA, T8 TSy TR TR AR AH Gt % wifiree § wts fafim gumn, smithm gey aii
fofetrtt s ekt wopfa % arftoeer 3| odm T A el o gl e W Wl aE % o B
TEA F AR AR S ¥ gen o Rvaendt TR W gl W 2| 6k 9w Wall W TR HeuAidia af
ST 21 wedl @A ° =nn e, dedt gf, SHue w e aH § aeior &6 6 sRmd g, ISR %
dgat aur wfeek e, seat St i geaT, amifa asfiear o dtgwe, B o s givaed §
dfg 3 dgar ATiEs Haretl =t FEiE F g9 B0l b T H <@ =AY A 4% YaET B BRU 8 S
=l e i gfg 5 gw 9 ) vaeR B Haw anfi @ wgd F w0 § 76 afcw wsd @ ol F w0 of
T =nfig

YRd § FATUET B Rl &1 o A4 i gienia B S 21 1971 § SR TS SEEET S uiarT %t w1
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[Option ID = 16963]

2. 2

[Option ID = 16964]

£

[Option ID = 16965]

4. 4

[Option ID = 16966]

3)

Read the following passage and answer :

Urbanization is a global phenomenon. Over half of the global population now live in urban
areas and as per United Nations projection by 2050 about 64% of developing would and 86%
of developed would be urban. This growth will be much in Asia and Afrca and these
continents have more towns and cities. The UN projection on India states that India would
reach 40% urban by 2030 and over 51% by 2050. As per McKinsey projections by 2030 five
states viz., Tamilnadu, Gujarat, Maharastra, Karnataka and Punjab will be more than 50%
urban. Even as per 2011 census a quarter of the districis have urbanization higher than the
national average. Village culture in characterized by common blood lines, intimate
relationships and communal behaviour where as urban culture is characterized by different
blood lines, unfamiliar relations and competitive behaviour. In present times, urbanization
and migration of people from rural to urban area began with industrial revolution and is
taking place on global scale. This results unthinkable size of cities. Growth of industries in
urban areas, inability of rural areas to absorb growing population, better and increased
employment opportunities, desire to have better standard of life, social mobility and fortune,
1increase In educational and health facilities, better civic services are to be considered as the
basic causes of urbanization. These facts are cause of migration and the roots of natural
increase of urban growth. Migration should not be considered only from rural to urban and it
can be urban to urban too.

In India urban area characters are defined by the census. The Census definition formulated
in 1971 continue to be adopted in successive census. As per the definition of urban is :

(A) Minimum of 5000 population
(B) Atleast 75% working population should be non-agricultural and

(C) Population density of at least 400 in a square km. Population land use, density,
employment etc are broadly the components of urban definition with variations between

E W a a1 P At o Tl 1 T [} fa Vot el Lo
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Denmark, Japan and China with very higher thresholds of 50,000 and 1.00,000
population respectively. Some countries use infrastructure and service provisions also
criteria for defining urban area. Hence it i1s a problems of meaningful comparson at
1nternational level.

Increased pace of urbanization required better Governance of cities and towns. For better
Governance various reforms required viz., property tax, E-Governance, public private
partnerships. corporate social responsibility, citizen character, service level bench marks,
local body ombudsman, strengthening finance commissions etc. These reforms would
provide Good urban Governance. Green plan and budget, pollution control, air quality
unprovement and also necessary. 152 Finance commission in its report mentioned that
specific tied grants to urban local bodies be given, particularly to million plus cities. to
control air pollution.

For good urban governance the following reforms are necessary : Choose the correct answer
among the following

(A) corporate soctal responsibility and green budget

(B) vibrant social media and civil society

(C) strengthening local finances and housing for needy
(D) service level bench marks and local body Ombudsman
() A B). C)

2 ®.©). D)

3) A. D

(4  (B). (O

wrefertr Aftrs we 2| Rraemd ssaen i sl o aifter ow sl 2t A w2 ol W g aw
(I7) i WA = AR 2050 7 epmniia g f 64% smem ot feekm fava 1 g6% Wl @
STl 77 gig wRen 3R AR 4 wgd gl 21 37 Al § S1ees et 9 T g Seg WOqu Wi
1 HIAA 8 B 2030 T 9T B 40% G W&l 7 Tl 3K 2050 9% 51% o e wfwsl H
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IRa ° SEET | R S % ST 1 SR e S 21 1971 § SR T ST Sh TRETST i A
1 Tt TPt § ot S T 2| 3 oTER Wel W 9T § (a) =AW 5000 SHEEH EF Wi
(b) il SFEEA F FH W FH 75% W-HY HEA] § GeW o0 A IR () BT F A 400 Tia
el =1 SFEE oen B Wiewl SHEw, 4 # 39ER, e, USRSy Wie 9 W OWad i
qiAT % e B TR SO0 OF oW § g 29 ° UiS Wiadd B 3] iR 29 % 5000 i SFEEA @
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[Option ID = 16970]

Topic:- GP_Set6_A

1)

The following table embodies the details about the production and profit of two items I and I
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items II

A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 123 30% 24%

=tifera e 4 g1 axggati I s 11 =1 OTa SferT-31e S A — G GRT 369G T 14 o7 el 2 |
A FFE GRT SF g3 6 TH WY ST el §0 T 25 HUS 2 | dferdl § o MU sTrwst B
SR 9% YUY & JeR oI |

FIATEIR SCaTeA @7 o = s

FH | e SedH gl ae I | v =nw Fi afdeea
Y %) | & A% TAT

= Tfqeraan (%) | % 753 SIS N p—
A 15% 21 5 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 21T% 5:3 28% 30%
F 05% 1:4 20% 25%
G 12% 1:2 30% 24%
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Cost of production of item I by company F 1s what percent (%) of the cost of production of
item II by company D?
(1) 16% (2) 66.67%
()  33.33% 4 20%

Ferft F g a%g 1 % seaied it wnra R afdsmar st D g A 11 o seare oy =ena o e |
fopat 27

(1) 16% (2) 66.67%
(3) 33.33% (4) 20%

[Question ID = 4899][Question Description = QO1_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19059]
2. 2 [Option ID = 19060]
3. 3 [Option ID = 19061]
4. 4 [Option ID = 19062]

2) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items 11

A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% - O 30% 24%

r=tifera atferst 4 51 avggati I i 1T =1 OTa s9er -1 S0 A — G GRT 369G U <14 o7 {efemr 2 |
A FFE GRT SF a5g3l  TH WY ST el §0E 5. 25 HUS 2 | diferd § o MU sArwst B
SR 9 9Y = IeR S |

FIHATER SCOTe @K oY =T s

FHI | B SeareH aeg I v =g 11 T W A uiderdd
. %) | % %3 3T

1 e (%) | T A9 SR ST N p—
A 15% 25 3 25% 20%
B 11% 3 2 32% 35%
C 22% 4:1 20% 22%
D 08% 3+ b 15% 25%
E 27% D: 3 28% 30%
F 05H% i:4 25% 25%
G 12% T 2 20% 24%

What is the total profit earned by company G for items I and II together?
(1) 78 Lakhs (2) T1.62 crores
(8) 7.8 crores (4) ¥F16.2 Lakhs

=5 1 9o =g [1 21 ok ford o @i oot G o gra =sAmn e 1 fohar 27

(L) % 789w (2 % 1.62%03
(8) T T8 (4 % 16.2%03
[Question ID = 4900][Question Description = Q02_GP_22NOV_52_SHAAN]
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| 2. 2 [Option ID = 19064]
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3) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items II

A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 190 30% 24%

rtifera atfert 4 g1 avgati I i 1T =1 OTa SferT-31e Sl A — G GRT 369G T 19 o7 {efemr 2 |
A FFE GRT SH GG 6 TH WY ST el ©0 T 25 HUS 2 | dferd § o MU TSt B
SR 9% 9T & IeR S |

FIHTEIR SCATe @K oy = s

FH | e SedH g lwEae I | wm= =nw Fi afdeea
. %) | % =T 3T

1 e (%) | = A9 S B ST S p——
A 15% P 5 25% 20%
B 11% 312 32% 35%
C 22% 4:1 20% 22%
D 08% D D 15% 25%
E 27% 50 28% 30%
F 05% 1:4 25% 25%
G 12% TG 20% 24%

What 1s the ratio of the cost of production of item I by company A to the cost of production of
item I by company D?

L 3:5 @ 2:1
@ 3:1 @ 2:3

K A g1 a5 I = Icaied il AP IR g D grr oy 19 Scured sl @RTa 1 UL 3Tt 9 3 7

(L 38:5 @ 2:1
3 3:1 4 2:3

[Question ID = 4901][Question Description = Q03_GP_22NOV_S2_SHAAN]
1. 1 [Option 1D = 19067]
2. 2 [Option ID = 19068]
3. 3 [Option ID = 19069]
4. 4 [Optien ID = 19070]

4) The following table embodies the details about the production and profit of two items I and II
by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Items I and II Farned for
Items I Items II
A 15% 2:3 256% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
13 NRKOL a-R 1R DR
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Aifera arfernt 3 g1 et T st 1T =1 UTd sfer-3eT a1 A — G gRT Ie9IGT U <14 1 {aeor 2 |
A R GRT SF a5g3  TH WY ST Wl el §0 %L 25 HUS 2 | diferdl § o MU sTrwst B
SR W Y99 1 IeR G |

FIOATER SCATe @K oy = s

FrH | P SeuH aq I wa =g 11 uTd =14 i gl
. ; o = o .

=1 Tl (%) | T A9 SREA B ST N p—
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% L | 20% 22%
D 08% 3:D 15% 25%
E 21% H:5 28% 30%
F 05% 1:4 35% 25%
G 12% 1 2 30% 24%

What 1s the sum total of the profit earned by company B on production of item I and the
profit earned by company A on the production of item II?

(L T 9.78 Crores

(3) ¥ 52.8 Lakhs

(2) ¥97.8Lakhs

@ T 30.65 Lakhs

ol B g g 1 % Scurea B AT T W S et A g a%g 11 % ScuiEd ® BA @Y B e

forrtt Tftr 587

() 3. 9.78 =08
(3 % 52.89m@

(2) % 97.8T™
4 =% 30.65 @

[Question ID = 4902][Question Description = Q04_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19071]
2. 2 [Option ID = 19072]
3. 3 [Option ID = 19073]
4. 4 [Option ID = 19074]

5)

The following table embodies the details about the production and profit of two items I and IT
by seven different companies A-G. Cost of the total production of both items together by

seven compantes is Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production Items I and II Earned for
Items I Items II

A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:H 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 112 30% 24%

=tifera arfers & 1 avggati I 3 11 =1 OTa ferT-31e S A — G G 369G T 14 o {eemr 2 |
A A GRT SF g3 6 TH WY ST 1 Tel §0 T 25 HUS 2 | diferdl § o MU strwst B
SR 9 9Y = IeR S |

FIHATEIR SCOTe @K oy = s

Easr o

=i faer (%)

Fel I

aeq I va ag 11

UTH ©H T aidead

% 9 SCIG =l -HIIT

7g 11
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A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:D 15% 25%
E 27% D:3 28% 30%
F 05% 1:4 20% 25%
G 12% 12 30% 24%

What 1s the sum total of the cost of production of item I by company A and the cost of
production of item II by company B?

(1) 2.6 Crores (2) 26 Lakhs
(3) 3.35 Crores (4) 33.60 Lakhs

ot A g T 1% SeureR oht e i et B g a%g 11 % Seurad P WrTd i Heem et e
Tt 537

(1) % 2.6%0% (2) % 26@m@
(3) % 3.35 =Ug (4) %. 33.65 @@

[Question ID = 4903][Question Description = Q05_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19075]
2. 2 [Option ID = 15076]
3. 3 [Option ID = 19077]
4. 4 [Option ID = 19078]

Topic:- GP_Seté6_B

1) In which level of teaching ‘Seeing of relationship’ is promoted as an objective?
D Memory level {2) Understanding level

(3) Reflective level (4) Autonomous development level

Tiregor % ToFm v W wrrdl w gfiue’ B 3evE % w0 # WiAg e S 27
() i - &w (2) ¥aEEH - TR
%) o - T - T 4) wrE - e -
[Question ID = 4904][Question Description = Q06_GP_22N0OV_S2_SHAAN]
1. 1 [Option ID = 19079]
2. 2 [Option ID = 19080]

3. 3 [Option ID = 19081]
4, 4 [Option ID = 19082]

2) Identify from the following spectrum of teaching methods which are called ‘dialogic’.

(A) Team teaching and demonstration.
(B) Tutorials and case studies

(C)  Group discussions and interactive presentation
(D)  Simulation and role plaving
(E) Computer Aided instruction and Practical tasks

Choose the correct answer from the options given below :
(1)  (A) and (O) only (2) (B)and (D) only
(3)  (B) and (C) only (49) (D) and (E) only
fou o freror it faftml % tiegn ® Futemem /da s gd £, SR veEE w1
(A)  Treor-gw wE ToRA
(B) A g ARG eI
(C) umfem 949t T SFAFARAT-Tg
O e v e fa

ST m"ﬁﬂ%-l' ﬂﬂl‘ﬁ”!ﬂ“?ﬂmﬁ.ﬂ-ﬂg
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H= f2u 1 et § O 9 39t =1 == e
(1) = (A) 3R (C) (2) I (B) 3R (D)
(3) Faa (B) 3 (C) 4 waw (D) IR (B)

[Question ID = 4905][Question Description = Q07_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19083]
2. 2 [Option ID = 19084]
3. 3 [Option ID = 19085]
4. 4 [Option ID = 15086)

3) Match List I with List II

List I List IT
Key behaviours contributing to effective Descriptive fetures
teaching

(A) Lesson clarity (I) Frequency with which students
understand and correctly complete
exercises

(B) Instructional Variety (I) The amount of time students devote 1n
learning in the classroom

(C) Engagement in learning process (III} Teacher's flexibility of the delivery
during the presentation of a lesson

(D) Student success rate (IV) Direct. audible oral delivery to all
students

Choose the correct answer from the options given below :

1 (A)-V), (B)-ULD, (C)-ID, M)-1D)
2y &3, (B)-dD), (C)-dID), M)-1V)
3 (@-dD. B-D. (C)-av). (D)-11I)
4 (A)-AI). (B)-AV). (C)-(D). (D)-L)

@ﬁ-l%m@ﬁ-ﬂﬁﬁmﬁ'ﬁﬁﬁn
g eI

(A) W3 - FwE @ BEl % FEETT H P @ T GR
STEATHI 1 T TS © I

(B) FTE-dtae (A0 e T BE R0 e 3g e e T
AT i TET

(C) Toream wizeen @ wferfeq (Il wis-wedfa i st d fers & ama-wei
=1 F=aar

(D) BE — Thaal — &R av) ¥l ety =t g, e Hitgs ama-
g

T & v el O © 98 SR 9 99 ik

(1) (A)-(IV). (B)-(IID). (C)-{D). (D)-(I)

(2) (A)~D. B)-ID), (C)-ID). (D)-(IV)

(3) (A)-(ID). (B)-(D, (C)-AV). (D)-(11D)

(4 (A)-(IID). (B)-(IV), (C)-(D). (D)-(IL)

[Question ID = 4906][Question Description = QO08_GP_22ZN0OV_52_SHAAN]
1. 1 [Option ID = 19087]
2. 2 [Option ID = 19088]

3. 3 [Option ID = 19089]
4. 4 [Option ID = 19090]

4)

Given below are two statements :

Statement I: Promoting classroom dialogue that encourages students to examine

prepp
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alternatives 1s an example of direct instruction.

Statement I1: Probing refers to teacher statements that encourage students to elaborate an

answer.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement I are false

(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true
i 2 o fag €

w9 (I): B B famwedt =0 glem w1 & fow scafga =@ 9 =w4r =1 gae 7099 FETH B

FE B |
we (II) . JBaTs 1 aae e F, SEH AR yEes I 4 % fore samfEa S aren 9 2 |

SUAIE U % el H, A9 3T U feredl § 9 wdt 3a¢ ok =@ <hifea
(1) =+ I I1 2 e 2 |

(2)  wem I ITaM staea B |

(8) T 19w 2, < wum I omaen 21

4 FRIsmaE: dfF FE IIas 2

[Question ID = 4907][Question Description = Q09_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19091]
2. 2 [Option ID = 19092]
3. 3 [Option ID = 19093]
4. 4 [Option ID = 19094]

%) Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion {A):  Innovations in evaluation system have to amply safeguard the rehability

and validity 1ssues of tools used.

Reasons (R) : The very purpose of evaluation 1s frustrated, if the evaluation tools do not

meet the requirements of reliability and validity.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct



www.prepp.in

prepp

_ _ Your Personal Exams Guide
{4) (A) 1s not correct but (R) 1s correct

= 31 Fom fGu 7w 2 : uF Afimed (Assertion A) % w4 # faflaa 2 91 @0 Su% RO (Reason R) %

A

AR YT (A) TEATHA - § TS, S SUh i frvasiEar TR S wreed e I
oEn # gefiad e 2

0 (R) : ﬂ\wimd e g %, BT, H@fﬂﬁ mean faganeiE TR dgar 1 sTuemeT i
ufd el d

SULITH Y % el B, Ao € e foekedl § d wS9 SWEE ST % 999 hifg

1) (@A) R R) 3w E @R R), (A) F @ =wen 7

(2 (A 3R (R)IF 7§ AR (R). (A) F wE wmen 7@ 2
(8) (A @E 2 A (R) @& TR 2

@ (A =E T R AR R) w2

[Question ID = 4908][Question Description = Q10_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19095]
2. 2 [Optien ID = 19096]
3. 3 [Optien ID = 19097]
4. 4 [Option ID = 19098]

%) In which of the following research methods, process of hypothesis testing optimally

safeguards the role of extraneocus variablea?

(1) Expost Facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method

= & ot mu-Gftet 4 a6 6 Toft sfeem wham fr maw =0 ow T = i gfiew w5 gl
w2 7

() =R - yoe @) wEmeER-faf
(8) tfemfas-fafa @ foaorem-waaa-fata

[Question ID = 4909][Question Description = Q11_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 1909%]
2. 2 [Option ID = 19100]
3. 3 [Option ID = 19101]
4. 4 [Option ID = 19102)

7) Which of the following belong to the category of true experimental design?

(A) One group pre test post test design

(B) Two groups randomized subjects post test only design
(C)  Two groups static designs

(D) Randomised groups pre test post test design

(E)  One group time series design

Choose the correct answer from the options given below :

(1) {A) and (B) only (2) (B) and (C) only

(3) (B) and (D) only (4) (D) and (E)only
=1 4 @ =i arafas wAife aiieerT °§ geeg 37

{ AN ramet TaaftEoT wfisEuer arfiesaaT
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(B)
(©)
(D)

(E)

e

e A= faw wdamR e srfimer
Tord far sfterem

g TE YT S sTfiweT
wwmwmﬁ?ﬁw

o o forerewt 6 ® v s W ==w Hifdw

4y
&)

99 (A) 3R (B) @) %3 (B) 3R (C)
e (B) = (D) (@) Fa (D) R (E)

[Question ID = 4910][Question Description = Q12_GP_22N0OV_S2_SHAAN]
1. 1 [Option ID = 19103]
2. 2 [Option ID = 19104]
3. 3 [Option ID = 19105]
4. 4 [Option ID = 19106]

8) Match List I with List IT

()
(B)
(<)

D)

List I List IT
Steps of research Precautions needed
Problem formulation (I) Appropriateness of techniques used
Hypothesis making (I) Ensuring internal validity optimally
Research design (III) Unambiguous labelling of variables
being related
Data analysis (IV) Focused 1ssues 1in terms evidences

Choose the correct answer from the options given below :

(1) (A)-dD). (B)-D), (O)-AV). (DY-(1II)
2)  (A)-D). B)-AI), (C)-IID), (D)-(IV)
(3) (A)-(IV). (B)-(1D), (C)-(ID, (D)-(I)
4y  Q-dID. (B)-AV), (O)-(D), (D)(ID
i1 % 0 ge-11 1 fierm Hifsm
T=i-1 -1
e = TIOT ST GrRETAT
(A) EwE i @ v R ol aeieR R e
(B) ufamewmr s AD) oTaich Suar i Iean ghivada
(C) Wiy FfiEmegar 1D >7ovsia 9q =0 IafRrg T
(D) Ser-fererm @IV) GiEa-ugl gt Higa fowg
i 723 70 fmeat 4§ ¥ ST W 9= fifw -
(1) (A)-dD. B)-(D. (C)-IV). D)-AID
@ A-@. B-aD). (C)-AID), (D)-aAV)
(3) (A)-AV), (B)-{ALD). (C)-dI), (D)-D
(4) (A)-dID), (B)-(IV), (C)-(D). (D)-AD
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1. 1 [Option ID = 19107]
2. 2 [Option ID = 19108]
3, 3 [Option ID = 19109]
4, 4 [Option ID = 19110]

9) Given below are two statements :

Statement I: Use of ICT in research is a super imposition which should be discouraged.
Statement II: Research ethics and its observance has to be a mandatory requirement.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement I 1s false

(4) Statement I is false but Statement II 1s true
= 2 =om e e 2
Fo () : TG § . HL . 0 e u sreann & B sdcaea e s =fge
Fo (ID) : TR~ ST U1 STUIeH T AT STeeaehdl 2 |

IYTITh YT & A o, A9 feu o feremed T O @t 3o = =ud iy

(1) =wwlsrIlsHi e s |
(2) A Lo I13M o1ae B |
(3) = 19 3, die %o 11 o18e 2|

(4) w9 I 319 2, ol o I1 89 §1

[Question ID = 4912][Question Description = Q14_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19111]
2. 2 [Option ID = 19112]
3. 3 [Option ID = 19113]
4, 4 [Option ID = 19114]

10)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A): Format and styles of referencing in a research thesis are formal
requirements.

Reasons (R) : Formal requirements and their observance help promote standardization
and objectivity.

In the light of the above statements. choose the most appropriate answer from the options
given below :

- —— - 4 ok ou - ——— % - — L] .- ¥ - - B B
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(2) Both (A) and (R) are true and (R) 1s NOT the correct explanation of (A)

(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1= true

4 2 wuA few e 2

sfirRaE (A) FTHIE WMY-Tery § Sgen T Gl 1 geeds situsnies sragsard 3 |

RO (R) : sfuenios sTayTRaddl 3R 39 SR ¥ AW o amgiiem ¥ @EdE d
TerEdl et 2 1

SRR YA = TR H, Hie feu o famseut W 9 wEt 39 o T Hife

(1) (A) 2R (R) I ot T 3R R), (A) T wdl wawe 2 |

@) (A) IR (R) I o E afm R). (A) F o =men 18 21

3 (A =d 2 Ol R) T 7@ 2

@ (A wd E B I R) Tt 2

[Question ID = 4913][Question Description = Q15_GP_22N0V_S2_ SHAAN]
1. 1 [Option ID = 19115]
2. 2 [Option ID = 19116]
3. 3 [Option ID = 19117]
4. 4 [Option ID = 19118]

1) When the attitude of the communication towards self is positive but towards others it is
negative, the communicator is said to be

(1) Self confident (2) Lacking in self confidence and
authenticity

(3) Self-conceited {4y Communicating without confidence and
without optimism

S8 T9TE] F =G T % Yid AFEUE U9 217 % Uid TR 2 ) 59 Fed 2|

(1)  sTedlegand (2) HTCHIIYAT U ORI SR ST
(3) e (4) TagameEF Ta sToEctEd Jag

[Question ID = 4914][Question Description = Q16_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19119]
2. 2 [Option ID = 19120]
3. 3 [Option ID = 19121]
4. 4 [Option ID = 19122)

12) 1f the action desired in the message i§ satisfactorily performed or the information is
faithfully received, it 1s said that,
(1) Communication loop has been closed (2) Communication has just begun
(3) Communication 1s successful (4) Communication process 1s smooth

IR WEWHER UF 9ai9q0 €1 ¥ 1 1 GOIET g &l 9 9 e favawyds g 5 9h e al

34 #aEd 2

(1)  gaw - 9iuy 5= 8 T 2 () = w9 & g R

(3) 4R 9% 2 (4) Ham-—giE a2

[Question ID = 4915][Question Description = Q17_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19123]
2. 2 [Optien ID = 19124]
3. 3 [Optien ID = 19125]
4. 4 [Option ID = 19126]

13) (Given below are two statements :

Statement I: Society plays a key part in the shaping of communication process.
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of public knowledge 1n society.

In the light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II is correct

w2 .

e () : @A, WeTg Wil bl AR e A qT qfiewT 1 et e 2 |
o (II) :  Sag Far W AFTish-gH -0 % seneq o T 9 diar gesia 2)

SHET HU T IS |, A BT T fawedt o ¥ T SUEh SO T 99 i,

(1)  =aA Ik I gH & 2 |
(2 M LR I12H o 2 |
8y = ITd 2, S wu 1L e 2 |
@) % I B, e e 1198 3 |

[Question ID = 4916][Question Description = Q18_GP_22N0OV_S2_SHAAN]
1. 1 [Option ID = 19127]
2. 2 [Option ID = 19128]
3. 3 [Option ID = 19129]
4, 4 [Option ID = 19130]

1) ‘Many Voices, one world : Communication and Society :

Today and Tomorrow” (UNESCO). known as the MacBride conumission. 1s about:
(A) The needs of developing countries

(B) Industrial growth

(C) Disarmament and world peace

(D)  Balance information flow

(E) International understanding

Chaoose the correct answer from the options given below :

(I A, D). (E)only (2) (). B), and (C) only
(3 (A, (O). and (D) only @ (A). (B), and (D) only

sfmafwmEt arrs fiwa o g9r @ TWE o 3R T (), aftg feess s, fres e 27
&) e g i savEe

(B) il famm

©) Tt v et

(D) wgiad a1 yamg
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et few 70 faepeal 5 O FE 39 w1 = <hifoe
1)  Fad (A), (D) 3R (E) 2) =@ (), (B) R (C)
(3) A (A), (C) T (D) 4) Fad (&), (B) 31 (D)

[Question ID = 4917][Question Description = Q19_GP_22N0V_52_SHAAN]
1. 1 [Option ID = 19131]
2. 2 [Option ID = 19132]
3. 3 [Option ID = 19133]
4, 4 [Option ID = 19134]

15) Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Those who receive the message and get themselves mnfluenced by them m

the process, are designated as audience.

Reasons (R) : An individual or many, who histen. watch or read the messages are called

audience.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the corrvect explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) {A) 18 correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct

= 3w fou e § ;U AT (Assertion A) % ¥ H fafled 2 a1 guu Su% wRW (Reason R) %

&g o

STFRAT (A) I TR AR TN 3 SfR 36 U | w99 U9aG T 9 8, ST g9 e e

AT E |

= (R) ; U S W gEL o safad A T W gAd, 9Ed 31 el 8, Al wea @

ST FYF S I H, F e e et 7 o aed Sww 3w H 9e i

(1) @ ¥R (R) 31 w7 oit (R), (&) H w6t =men 7 )

@ @ 3k ®) I v @fm ®), Q) B wd e T 2
(3 (A =d 2 At R) W TR

@ (A @ T 2 @ R) w8 3

[Question ID = 4918][Question Description = Q20_GP_22N0V_S2_ SHAAN]
1. 1 [Option ID = 19135]
2. 2 [Option ID = 19136]
3. 3 [Option ID = 19137]
4. 4 [Option ID = 19138]

16) A sum of money at compound interest doubles itself in 15 vears. It will become eight times
of itself in ;



www.prepp.in

prepp

Your Personal Exams Guide

(1) 45 years (2) 48 years
(8) 54 years (4) 60 years
o fifTad «a i Tt 15 avi § Twahg =9 ® I S AR 2 | T8 S19 o7 @ 378 T frad 9wl 8§
ELi
(1) 4599i# (2) 487w ®
(3) bB4Twi A (4) 60=wi |

[Question ID = 4919][Question Description = Q21_GP_22N0OV_52_SHAAN]
1. 1 [Optien ID = 19139]
2. 2 [Optien ID = 19140]
3. 3 [Option ID = 19141]
4. 4 [Option ID = 19142]

Lt The average age of three boys i1s 25 years and their ages are in the proportion 3 : 5 : 7, the
age of the youngest boy 1s :

(1) O vears (2) 15 years
(3) 18 vears (4) 21 years

A wrew 1 ofwa o 25 W 2 iR ST o1 W NG 3: 5 7 A @ D1 5 *hi o7y I 27

(D 9@ (2) 154
(3) 18 @ (4) 214«

[Question ID = 4920][Question Description = Q22_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19143]
2. 2 [Option ID = 19144]
3. 3 [Option ID = 19145]
4, 4 [Option ID = 19146]

18) With an average speed of 50 kmv/hy, a train reaches 1ts destination in time. If it goes with an
average speed of 40 km/hr, it is late by 24 minutes. The total distance travelled 1s :

(1) 30km (2) 40km
(3  60km 4 80km
o et 50 /e it eitaa e @ ot e e woad @ ¥ agedt 21 ovR ww 40 Beaf fe
%t 1 W T § @ 77 24 e o 3 I 2| Tl 3o feed et = aw i 27
(L) 30 . (2) 40 #.H.
(3) 60 4) 80 fx.H.

[Question ID = 4921][Question Description = Q23_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19147]
2. 2 [Option ID = 19148]
3. 3 [Option ID = 19149]
4. 4 [Option ID = 19150]

19} 1f the word EARTH be witten as QPMZS in coded form, how can HEART be written following
the same coding.

(1) SQPZM (2) SQMPZ

(3  SPQZM ) SQPMZ

3T’ EARTH wWeg ! ge-w1 § QPMZS foran o g1 af St e—wra 5§ HEART =t % forgim ?

i 1Y SEPIM (7N SQOMPY
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(3) SPQZM 4 SQPMZ

[Question ID = 4922][Question Description = Q24_GP_22N0V_52_SHAAN]
1. 1 [Optien ID = 19151]
2. 2 [Option ID = 19152]
3. 3 [Option ID = 19153]
4. 4 [Option ID = 19154]

20) Complete the number seres :
0. 6. 24, 60, 120, ......

(1 180 (2) 300
(3) 210 (4) 240

TEA-%T il G0 |

0. 6, 24, 60, 120, ......
() 180 (2) 300
(3 210 (4 240

[Question ID = 4923][Question Description = Q25_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19155]
2. 2 [Option ID = 19156]
3. 3 [Option ID = 19157]
4, 4 [Option ID = 19158]

21) Sagarika 1s never seen reading any Mathematics book during the day time. Yet she scored
08% marks in Mathematics. Therefore she must be studying during the night. “Which of
following means of knowledge is used in this argument?

(1) Upamina (analogy) (2) Pratyaksa (Perception)

(3) Anumana (nference) (4) Arthapatti (Implication)

“f&1 % wmA o wETeE i TG W 9Ea dgd 5O ®d1 off T S@n T, 9 39 98% A% UTH Y| ST
% T4 | e vedl 2t 7 39 IfFa § wE @ orwm it 27

(1) <A (2) uaE

(3) ogEH (4)  Fruiafy

[Question ID = 4924][Question Description = Q26_GP_22N0OV_S52_SHAAN]
1. 1 [Option ID = 19159]
2. 2 [Option ID = 19160]
3. 3 [Option ID = 19161]
4, 4 [Option ID = 19162]

22) Which of the following Indian thought systems holds that universal relation in case of
inference (anumana) cannot be determined because there 1s always room for doubt about the
unobserved cases?

(1) Buddhists (2) Naiyayikas
(3) Mimamsa (4) Lokavala
frafafee 9 @ =R @ wad 9 wghk 73 Tl 2 B ogrm @ weefRe arvim geey feife ad e
ST T TR SITEIPhd HIAAT B Wi-areal =i JoNsH g9 o=l wEal 3 7
(1 g (2) He=tre
(8) @)

[Question ID = 4925][Question Description = Q27_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19163]
| 2. 2 [Option ID = 19164]
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4. 4 [Option ID = 19166]

23)  The statement ‘a sense organ that perceives a property also perceives the “propertyvness™ as
well as the absence of that property’ can be attributed to which of the following schools of
classical Indian Philosophy?

(1) Lokayala / Carvaka (2) Nyaya
(3) Buddhism (4) Uttara mimarsa

HUT - S gfgm uad B Toue B & 9t shed sweR) otafiiar qur saeh s o o wend et 21
=W U 9T 399 % 6T STIEE ¥ iel S Ol 2|

(1) o /aEs (2) =M

3 w3 @) IE i

[Question ID = 4926][Question Description = Q28_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19167]
2. 2 [Option ID = 19168]
3. 3 [Option ID = 19169
4. 4 [Option ID = 19170]

24)  Which fallacy 1s committed in the following statement?

“Nobody has even proved that immoral behaviour by elected officials erodes public morality.
Therefore we must conclude that such behavior does not erode public morality”.

(1) Appeal to Force (2) Appeal to Pity
(3) Appeal to Ignorance {4) Appeal to the People

TR YA | iAo Sy Av g a7 R A ven g Ad e 2 g9 gu weiimia
HAfF cHemR -t 1 o wft & Foraea 29 39 vt @ wien € % g9 e % svEEr sH-

Aferran = oo & w2
(1) oS % Terd (2) 1 99 % o
(3)  °T9F % Ted (4) FfEa & Tod

[Question ID = 4927][Question Description = Q29_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19171]
2. 2 [Option ID = 19172]
3. 3 [Option ID = 15173]
4. 4 [Option ID = 19174]

23) Given below are two statements :

Statement A : “All p:h}rsicians whose licenses have been revoked are physicians ineligible to
practise”.

Statement B: “All physicans eligible to practise are physicians whose licenses are intail”,

Which of the following is true with regard to above two statements?

(1) Statement B is contrapositive of the statement A and these statements are not
logically equivalent.

(2) Statement B 1s contrapositive of the statement A and these two statements are
logically equivalent.

(3 Statement B is converse of the statement A and these two statements are not
logically equivalent.

(4) Statement B is obverse of the statement A and these two statements are not logically
equivalent.

Fom 1 A weft Fafreaes feh srmftaat fem =t =i 2 3 ffrem #ed =g amea 20
wut ‘o o aoft Rafpeaw 0 Tafeem =0l % g A 2 391 armfcaat sgor 2)

<1 31 FUAT % Ted § FeTied O # = R w2

(1) 99 9, F9F o1 1 sufafia w9 2 aor 3R Haw @i 3fE | wnae 78 €)
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2) Wa,mmawqﬁmﬁaﬁam%ﬁméﬁwm?ﬁﬁw%l
(8) YA W, U I H AIAA T 2 qUT I YT AR P U AHGed T 2 |
(4) 9, YA 3 T whiaiad T 8 901 g1 w9 dfhs g o uuged e |

[Question ID = 4928][Question Description = Q30_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19175]
2. 2 [Option ID = 19176]
3. 3 [Option ID = 19177]
4. 4 [Option ID = 19178]

26) With respect to Computer Virus, which one of the following statements is True?

(D It 1s a kind of physical impurity which when present in the CPU causes it to
malfunetion.

{2) It 1s a computer program that infects a computer and thereby sends unsolicited bulk
email.

(3) It 18 a computer program which copies itself to infect a computer without the
permission / knowledge of the user.

(4) It 1s an accumulation of dust on the hard disk causing 1t to malfunction.
T IH F Ty § cIad § ¥ i §1 B §ed 77
(1) =% TF TR i Yitas g 2 5 5@ @t g, 8 & 2 a Teeuet U w2

(2) 7% T hUgE WA B S HEE Sl UMl Fal 2 S 36 TR FFEEs avh sHe Sl 2 |

(3) UE T FEN TUE § S S ulaey seen 2 e 7y wrorer 91 swwl wEi wE A
T o o 30 e e 3 |

(4) 7= Fae go Fil THEE & A FE-5e W UE 9 2 e Feees wm A a5 w1 G |

[Question ID = 4929][Question Description = Q31_GP_22N0V_S52_ SHAAN]
1. 1 [Option ID = 19179]
2. 2 [Option ID = 19180]
3. 3 [Option ID = 19181]
4. 4 [Option ID = 19182]

27) Identify the correct order in which the following computer memories are ranked from largest

to smallest 1n terms of storage capacity
(A) Cache

(B) RAM

(C) Hard Disk

(D)  Register

Choose the correct answer from the options given below :
(L (©).3B). D, & @) (D), @A), (B). ©)

3 ®. D). Q©) @A) ) (C). (B), (A). (D)
wfa- s #i a1 3fE & vew w2 U g9y B I HAN F TE 0 A TEEE

(A) W
® W

C) ===



prepp

Your Personal Exams Guide

D) Pz

Hie Tou Tu fapeat 0 © TE I 1 9AT il

(1)  (C). (B). (D). (A) 2) (D). (A). (B), (O)

3 B).D. (). &) (4) (O). B). (4), D)

[Question ID = 4930][Question Description = Q32_GP_22NOV_52_SHAAN]
1. 1 [Option ID = 19183]
2. 2 [Optien ID = 19184]
3. 3 [Optien ID = 19185]
4. 4 [Option ID = 19186]

28) Given below are two statements :

Statement I : The largest decimal number that can be represented using a 7-bit binary

number 1s 128,

Statement I1: Minimum number of bits required to store largest 2-digit decimal number

18 7.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement I1 is true
e 7 %o feg e #
wE @) :  7-F = wE wRd ge Ted w9 g ge 128 3 |
w0 (1) : o= =91 31-T3Fr grmetas aen = o #6@ F oy =an 7 e i e 2
YU FYF T s A, f9 v 1o fAwed § 9 w9 su W 99w AR

(1) FEIakIIaTT T3 |
(9 w1 SR IL9H 39 & |

(8) w1 E 2, A wu [ o/aa B

(@)  FH 1 a 3, A 5 a2

[Question ID = 4931][Question Description = Q33_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19187)
2. 2 [Option ID = 15188
3. 3 [Option ID = 15189
4. 4 [Opticn ID = 19190]



www.prepp.in

prepp

Your Personal Exams Guide

29) Which of the following group of statements with respect to World Wide Web (WWW) is

A web server 1s a software used to access and view content on the WWW.

A web browser is a computey system that makes files available on the WWW.

correct?

(&)

B)

(C)  Tim Berners — Lee created the WWW.

(D)  Mosaic was the first widely used web browser.

Choose the correct statements firom above :

(1)

(3)

(A) and (B) only

(B) and (C) only

(2)

(4)

WWW (a5 9158 991) % a8 | A~ 3 99 Jal 8

(A)

(B)

(C)

D)

#r wa-st 3 WWW =/ |

f= fiu 7o ferem § © U8 SR W =99 e

(1)

(3)

whael (A) 3T (B)

Faa (B) 3R (0)

T Tger wod S YHE BT ST et S s o1 |

(C) and (D) only

(A) and (D) only

49 AL U Aite i & W WWW T Uaa| 31 shiede 2 = fo1e 9o gt 2 |

o9 FIIR U Hrog e @ I WWW W 3ueiey Fiset ST ¢ |

(2) Fa (C) 3R (D)

(4) AW (A) IR (D)

[Question ID = 4932][Question Description = Q34_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19191]
2. 2 [Option ID = 19192]
3, 3 [Option ID = 19193]
4. 4 [Option ID = 19194)

30) Match List I with List I

(A4)

(B)

List I
(Digital Initiatives in Higher Education)

NAD

NDL

(C) Spoken Tutorial

D)

FOSSEE

D

an

(1)

Iv)

Tast IT
(Purpose)

Reduce dependency on proprietary
software In educational institutions.

Learn various free and open source
software all by oneself.

Issuance, storage, access and
verification of Academic Awards
namely degrees, mark-sheets ete.

Frame work of wvirtual repository of
learning resources with a single —
window search facility.

Choose the correct answer from the options given below :
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1)  @A-dID. (B)-aQv), (C)-ab, O)-D
(2)  (A)-AV). B)-A1I), (C)-(D). (D)-dD)
(3 (A-AV). (B)-AID, (C)-(I), (D)D)
@  @-AD. B, (C)-UD. D)-IV)

TAI-1% Wy G-I =1 e Hifo
g1 T-IT
Seetgian 1 fshea e A&
(A) wAuE @ Togur-gwrE § dtueed diveds w i
AT 2 |
(B) A3l AD 1o 3 2 fafim i ai s o
TiTeaeR diemT 2 |
(C) R ZgEifea (AID) Trfa =, I 6T, U5T IR v oM
SH-Terft, wrm—sie soafe 6 sta
(D) TF.31.09.98.3.3 (IV) i &St w4 &1 g % oy afin fads
Hi= fow e fwet § & w8 5ot = ==a Hifw

(L A-AID. B)-AV). (C)-1D). (D)-D)
@  (A-aAV), B)-dID. (C)-D). (D)-aAD)
(3 (A)-aV), (B)-IID. (C)-ID), D)-TD)
4  A-a1), B)-0), (O)-dI), M)-AV)

[Question ID = 4933][Question Description = Q35_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19195]
2. 2 [Option ID = 19196]
3. 3 [Option ID = 19197]
4. 4 [Option ID = 19198]

31) Qzone layer to become ozone hole. the concentration of ozone should be

(1) < 220 Dobson Unit (2) =< 300 Dobson Unit
(3) < 320 Dobson Unit (4) <400 Dobson Unit
2T W o ST g § iafaa 24 % fore e 1 S B =1 |
(1) <9290 Sisw T (2) < 300 STe8 T
(8) < 520 TfeuT T8 (@) <400 =0 T8

[Question ID = 4934][Question Description = Q36_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19199]
2. 2 [Option ID = 19200]
3. 3 [Option ID = 19201]
4. 4 [Option ID = 19202)

32) The Virus responsible for disease COVID-19 is

(1) SARS-Cov-2 (2) TB- Cov-2
(3) SARS — Cov-1 (4) HaN-
Fifag- 19 % fore Ieard fm 2
(1)  @E-FE. -2 2y Hdi-wE. - 2
(8)  A-HE. -1 (4) T

[Question ID = 4935][Question Description = Q37_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19203]
2. 2 [Option ID = 19204]
3, 3 [Option ID = 19205]
4, 4 [Option ID = 19206]

33) Match List I with List II

ListI List IT
Alr Quality Index Colour Code

(AY 0500 (i Yellow
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(B) 101 -—200 (I) Red
(C) 201-300 (II1) Green
(D) 301 -—400 (IV) Orange

Choose the correct answer from the options given below :

(1)  A-AID. B, (C)-(I), (D)-AV)
2 A-AID. B-D, (C)-AV), (D)-dD)
3  @-AI). B)-@). (CO)-(II), (D)-AV)
@  A-AD. B)-@). (C)-AV). (D)-AID)

off-1 % my g=-11 1 fiem Hifom
g1 get-11
g T T T e
(A 0-50 @ den
(B) 101-200 I =
(C) 201 -300 IID) =W
@) 301 —400 (IV) =t
A=t et v fomeat A 9 @€ 39 = ==A St

1)  (@-AD). B)-O). (C)-ID), M)-(IV)
2y  A)-AID. B)-M. (C)-AV), D)-AD)
3y  @-AD. B)-(D, (C)-AID. (D)-(IV)
4y  (A)-AD. B)-D, (C)-AV). D)-1D)

[Question ID = 4936][Question Description = Q38_GP_22NOV_52_SHAAN]
. 1 [Option ID = 19207]
2 [Option ID = 19208]
3 [Option ID = 19209]
. 4 [Optien ID = 19210]

T e

34) The saltiness of the ocean water can be attributed to the minerals and salts deposited by the
various rivers that flow into it. However, rivers are not saline because :
(1)  Salts get precipitated at the bottom
(2) Salts are absorbed by the plants into it
(3)  River water in replenished by the rain
(4) Muds of the river neutralizes the salt
"Gl Sl = WRYA & o s st fied aret fatie afeat g fefee gtien sk w=on =i sewE 3

W GHAT B | AT, AGAT W el W A5l 2ran FHIE

(1) <@ 9e=dl § STaEia 2 9 & (2) TET SEUI H ST A B
(8) G A 991 W MYRa 7 el 2 (4) TS BT MG S B EHE] ST B

[Question ID = 4937][Question Description = Q39_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19211]
2. 2 [Optien ID = 19212]
3. 3 [Option ID = 19213]
4. 4 [Option ID = 19214]

33) India’s maximum energy comes from :

1 Hydroelectric Power Plant (2) Nuclear Power Plant
(3) Thermal Power Plant (4) Solar Power Plant

URE | T S g

(1)  wAfase! @3 (2) g faa o=
(3)  amfaga W (4) =R foga o=
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1. 1 [Option ID = 19215]
2. 2 [Option ID = 192186]
3. 3 [Option ID = 19217]
4, 4 [Option ID = 19218]

36) Under the rubric oriental learning programmes 1n India, The role of learmer was considered
to be relatively more :

(1) Active (2) Passive
(3) Neutral (4) Silent

R W, UTeA SR T RN a2l il i amiaes ' ¥ aftes

(L)  wisea "l St o ) ffser arf st off
(3) T2y AE S off (4) v= 9l S oft

[Question ID = 4939][Question Description = Q41_GP_22N0V_S52_SHAAN]
1. 1 [Option ID = 19219]
2. 2 [Option ID = 19220]
3. 3 [Option ID = 19221]
4. 4 [Option ID = 19222]

37) Which of the following features are indicative of the negative social rather than physical
aspects of environment?

(A)  Habitats in slums
(B)  Conflict and clashes in groups
(C)  Frustration and anxiety manifest in groups

(D)  Aggression and threats manifest in collective behaviour

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B, and (C) only
(3 (B) and (D) only (4) (C) and (D). only

Fonfra § 9 FE-d Toea o & Oitas 960 § S1Us 59 TorolS WHieTE U § Uea® 27

(A)  HAfem afeEl F T@-TyE

B) wgE & gud ik wed

(C)  w9El ¥ Fa1 AN =wrE v Bl @

(D) Y =AER § ST 31 Bl T2 5 3

= v o fomewt § © O ST oW 9m Hiee

(1) 3 (A) 3R (B) (2) A (B) iR (O)
(3)  waw (B) 3R (D) (4) Fa= (C) 3k (D)

[Question ID = 4940][Question Description = Q42_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19223]
2. 2 [Optien ID = 19224]
3. 3 [Optien ID = 19225]
4. 4 [Option ID = 19226]

38) For continous professional development and self improvement every teacher i1s supposed to
atleast devote how many hours every yvear?

(1) 20 hrs (2) 30 hrs
(2) 40 hrs (4) 90 hrs
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R Jorm e SR sTeTend = form e frae st aia o = fRee 92 =dia e e ?
1 20% @) 30%

(3 40 4 509

[Question ID = 4941][Question Description = Q43_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19227]
2. 2 [Option ID = 15228
3. 3 [Option ID = 19229]
4. 4 [Option ID = 19230]

3%) The central motivational goal as evident in personal success through demonstrating
competence according to social standards takes the form of a basic value called,

(1) Self — direction value (2) Hedonistic vliaue
(3) Achievement value (4) Power value

qTfork WAEST % TS S%dl T YU L daTFas Theidl § Whe HE IcATH @A W YUYd Ied
FTd &

(1) IR G R (2 gaad 9T
3)  svafE 5o (4 =i g

[Question ID = 4942][Question Description = Q44_GP_22N0OV_52_SHAAN]
1. 1 [Option ID = 19231]
2. 2 [Option ID = 19232]
3, 3 [Option ID = 19233]
4. 4 [Option ID = 19234)

40) Match List I with List II

List I List II
Stages of value development Descriptive features

(A) Stage I— Value collection (I)  Provides predictability of human
behaviour

(B) Stage II — Value assessment (II) When there are gaps between
practised and preached values

(C) Stage III — Value clarification (III) Helps the individual learn to choose
and imbibe the values one cherishes

(D) Stage IV — Value consolidation {IV) These are acquired from the members

of the community

Choose the correct answer from the options given below :

(1 A)-AV), B)-1D), (O)-aL), D)-d)
2 A)-D. (B)-dD, (C)-ID), D)-AV)
(3  A)-dLD, B)-D), (C)-@V), (D)-A1D)
4 (A-Im. B)-IV), (O)-0), (D)-D

Tfi-1 = @ g1 =1 foem i -
g I g1l
(&) = - I - 909 TEm d) HFE EER B AN U HE 7 |
(B) = - II - gea e D) = =Hagg IR IRk 1ot | oiaud o |
(C) = - III - gea Avfim (1) =afea =i woder geal @ =97 S S
H TR T 2 |
D) = - IV - Jod GHe (V) 3= GUgM % deeal € 9 foar S 2

e fou m fompei & 2 wEl I B = R

D A-IAV), B)-d1D), (O)-aD, D)-I)
(2)  (A-D). B)-AD, (C)-dII), (D)-(IV)
(3)  (A-AD. B, (C)-AV), (D)-IID
4  (A-II). (B)-IV). (C)-D). (D)-ID

[Question ID = 4943][Question Description = Q45_GP_22NOV_52_SHAAN]

| 1. 1 [Option ID = 19235]
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Topic:- GP_Set6_C

1)

Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them. and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industral Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftaman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

fifipa e =i ufey i F= e e wes e df

SiEn i I W g B S T F TYFR F HaeR-%a A T | YEad] S 5 e
3R foreaill & we F Ao F g G F i T o @R 9 S 99 F geaaH S 59 |
ST 1 ST WIS T2 % JeER WHTETHE B SR 9T il I difeal o YA o @i O e
T THNUHR F WEFR U 5= W (A1 1 T IR Joadi # 48 ¥ ghom e # fatEee e e w |
TH TFN, GG Fd % WG G S99 F 9 T R geamaics 74 % Thid F1 @iEd 7
HreAlal 5 G 1 b ariia gure A fgunh suamn g )| ge el st se saga gfa adéet &
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Inequalisation due to education could be addressed by :

(A)

(B)

(C)

Promoting the distinction between theory and practise
Challenging the watertight distinction between traiming and education

Qualitative transformation of technology

(D) Ushering in an age of specialization based on dichotomy between training and

education
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Choose the correct answer from the options given below :

(1) (A and (B) only (2) (A), and (D) only
3)  (B) and (C) only (4 (C) and (D) only
1o # STETHIES W WHIE 2

(A Tz ot s3aer & &9g =i 98 & |

B)  uiemr i fren % s % stoaeq fadg =1 g3 &)

(C)  TENfER =1 TUEETRS BRI |

D)  wfeor sit fren & Ry % R o R i a9k 9 e )

1 fau 7o et § © @9 S w1 99 Hif

(1)

(3)

Fad (A) 31 (B) (2) e (A) 3 (D)

Faat (B) 31 (O) (4) Fad (C) i (D)

[Question ID = 4944][Question Description = Q46_GP_22N0V_S52_ SHAAN]
1. 1 [Option ID = 19239]
2. 2 [Option ID = 19240]
3. 3 [Option ID = 19241]
4, 4 [Option ID = 19242]

2)

Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftesmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradifion of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so 1n the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  Education may be considered to be an instrument of inegqualisation.

Reasons (R) : The separation of work from knowledge was operationalized by separation

of training from education.

In the hight of the above statements. choose the most appropriate answer from the options

given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
3 (A) 15 correct but (R) 1s not correct

(4) {A) 15 not correct but (R) 1s correct

A= 21 FoF f5u U ¥ ;T IR (Assertion A) % ¥W ¥ foiflga 2 @ 300 S99 WY (Reason R) %

Eﬂlﬂ
Y (A) et =61 2TOmTIROT = G HET S O 2
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[Question ID = 4945][Question Description = Q47_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19243]
2. 2 [Option ID = 19244]
3. 3 [Option ID = 19245]
4. 4 [Option ID = 19246]

3) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
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value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the vounger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them. and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of Inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industral Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

fFeTea e = gige i e 79e e yv = e S

giian i e ¥ 9 W B SN TH F TEFS F HaeR -5 G T | YEad] S 5 e
3R Toemt % wen F [ B T 9 B s B0 A A F 0 99 gewa™ S 9 |
SR 1 ST WIS T2 % JeR WA B SR o i I difeal o Tgar o @i O 3
T UHNUHR F WETE U 5= IR (A1 1 T IR goadi & 8 ¥ ghom et # fatEee e o ws |
TH YFN, GG A % Wi OIS S99 9 Ti60 R seamaics 74 %1 Thid F1 @igd 2 T |
HreAlal 8 MG 1 b arita wuren A fgunh suaon 8w )| ge el sk se e gfan adéet &
fareper T off o werw <o O S O o #9191l 39E Wal 3a0Y | A B 7 ¥ IR wE # ulE
¥ s HE A g ) 9E-g9 U afemt % e w0 eneaw @ 2 o fow o= fren @ afee fe
T SR ST % TAU A R o WK I ol W arsd T T | SER g steer #, e s
STEAHEFRT i TG Jo B0 WA N WA B | UK % wa S H S wid § A o
T T H 3 H T2 | TP F IOEIRE FEAa % R P9 e % o utnee = d |
T e T ot ffem 2o e sooea © it w0 @ o w T g # agiees 9 iR SneR
1 A NS § ST STaya® 51 Tt uiem i) fren % e om o =3 Aen W asT stad
B T | SIEEle® UN % 2V § ¥R G99 B T i 98 Use o Ut 9iU 9 3 ¥ BrRer Iuan sk
sfig@sr, qer 3R tiaslaget, 5ol A S uh € 99 9w T qkE @ ST Jien |iaes gaR w5 |

Given below are two statements :

Statement I: Training is intended to transfer the skills of labour and secrets of crafts

manship to people who lack it.

Statement II: Education 1s intended to pass on the abstracted generalizations of social

practise to those who lack 1t.

In the light of the above statements. choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
{(3) Statement I 1s correct but Statement II 15 1ncorrect
{4) Statement I 1s incorrect but Statement I1 1s correct
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[Question ID = 4946][Question Description = Q48_GP_22NOV_S$2_SHAAN]
1. 1 [Option ID = 19247]
2. 2 [Option ID = 15248
3. 3 [Option ID = 15249
4. 4 [Option ID = 19250]

4) Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the yvounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the vounger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them. and from the domain of power by closing
its door to the uneducated. Viewed thus, education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industral Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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The author of the passage argues for :

(A)
(B)
<
D)

Classless society
Technocratic society
Interrelation between theory and practice

Presentation of traditional crafts

Choose the correct answer from the options given below :

(1)  (A)and (D) only @) (A) and (C) only
(3)  (B)and (D) only (4) (C)and (D) only
TR %1 g% oRteRl AN #al 27
A)  wifada g

(B)  aFRI-a T s
(C) Trgia iR =9aeR % ner araday
(D)  wrowien firedt i Tl

TEl 3T R =94 HIfAU
(D F=a (A) 3 (D) (2)  FEA (A) ¥R (C)
(3) e (B) ik (D) @) A (C) ¥ (D)

[Question ID = 4947][Question Description = Q49_GP_22NOV_52_SHAAN]
1. 1 [Optien ID = 19251]
2. 2 [Optien ID = 19252]
3. 3 [Option ID = 19253]
4. 4 [Option ID = 19254]

3)

Read the following passage carefully and answer the questions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftsmanship to the vounger generation of the toiling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propettied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftsman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denving education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation in history. This distortion way partially corrected in the
developed countries of the west under the mmpact of the Industrial Revolution. With
qualitative transformation of technology. it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgv and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so 1n the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Assign a suitable title to the paragraph

(1) Theory without practice infertile. practical benefit of theory 1s in vain
(2) Theory and practical, complement each others

(3) Dichotomy of theory and practice

(4) Theory lends support to practice

e 1 I9gFT WEH I
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(3)  figm o sHeEn = s
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[Question ID = 4948][Question Description = Q50_GP_22N0V_S2_ SHAAN]
1. 1 [Option ID = 19255]
2. 2 [Option ID = 19256]
3. 3 [Option ID = 19257]
4. 4 [Option ID = 19258]
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